

SCHOOLS CRICKET IN 1984

In a summer which favoured batsmen throughout the country, a feature of 1984 in English Schools representative cricket was the large number of centuries. M. A. Roseberry was especially prolific. After single-figure innings at Eastbourne for ESCA, he scored matchwinning hundreds on successive days at Lord's – 112 for MCC Schools v NAYC and 117 not out for NCA Young Cricketers v Combined Services – followed three days later by 123 before lunch v Welsh Schools. In a strong English Schools batting side hundreds also came from D. J. Billington and I. Redpath, with M. A. Atherton, P. A. C. Bail, R. J. Blakey and T. R. Ward all making useful contributions. The bowling, less strong, had a good off-spinner in C. S. Mays, who was ably supported by the fast bowlers, N. B. Cheeseright, M. A. Robinson and I. R. Bussey, as well as by another off-spinner, D. G. Hills. M. L. Roberts kept wicket to a high standard to all bowling and was awarded the A. A. Thomson Award of the Cricket Society. Redpath received the Gray-Nicolls Award for the Len Newbery Trophy for the most improved schoolboy cricketer and Roseberry the Cricket Society's Wetherell Award.

After the win at Lord's, the games against the home countries were drawn. That against Wales, at Pontarddulais, was a high-scoring one, in which Roseberry made his 123 in 130 minutes before lunch, hitting two 6s and 21 4s. However, the middle order failed to maintain the momentum and England were dismissed for 272. S. James and R. James took Wales to 155 for two, but a good second spell by Cheeseright and a return of four for 71 from Mays saw them finish 34 behind. Billington scored a second-innings hundred (eleven 4s) and Wales's target, requiring 6 an over, was beyond them, although S. James and S. Maddocks put on 140 for the

second wicket.

Overnight rain penetrated the covers before the side's first-ever match in Ireland, at Dublin, where the home side, put in, were rescued from 93 for seven by Kilgore's 52 not out in 27 minutes. England scored 198 for eight, 49 ahead, in their 55 overs and then the spin of Atherton and Mays had Ireland in trouble again. However, Kilgore, once more, and McCall added 57 and England were set to score 144 in 22 minutes plus twenty overs. They were going well at 80 for three, but two run-outs and the loss of Roseberry left them playing for a draw.

Rain having interrupted the game at Aigburth, Liverpool, on the first day when Scottish Colts were 57 for two, they declared at this score and England forfeited their first innings. Thanks to a half-century from Smith, Scotland reached 192 for six off 68 overs, setting England a target of 250 in just under two hours plus twenty overs. Roseberry and Redpath opened with 91, Redpath going on to an unbeaten century, but no-one else could maintain the run-rate and they finished

Il short with four wickets in hand.

Fine weather favoured the one-day game against the Zimbabwe Under-20 XI at Great Crosby, in which the visitors were bowled out by Mays and Hills for 194. Redpath, N. A. Willetts (a replacement for Roseberry, who had gone on a rugby tour to Australia), Bail and Billington, captain for the day, saw England to a comfortable six-wicket win to finish the season on a high note.

In 1985 a new venture, the "MCC Schools Festival", will take place in Oxford. Jointly promoted by ESCA and HMC Schools, with the backing of MCC, it will include the traditional HMC Southern Schools against The Rest, and an ESCA trial match; but, in place of the match between HMC Schools and ESCA, the best 22 players, irrespective of background, will be brought together in a match between MCC Schools East and West, after which the MCC Schools team will be chosen to play NAYC at Lord's.

HMC SOUTHERN SCHOOLS v THE REST

At Eastbourne College, July 21, 22. Drawn, after an exciting finish had left Southern Schools just 4 short of victory. Of the seam bowlers only Russell troubled the batsmen, but the off-spin of Mays always commanded respect. Holt's slow left-arm was steady and the leg-spin of Atherton, Hussain and Heath looked promising. The standard of fielding was excellent, notably that of O'Gorman at cover, while Garratt and Atherton excelled close to the wicket. Tyler played two solid innings, Willetts and Townsend struck the ball enterprisingly, and O'Gorman batted elegantly in the second innings.

The Rest

N. A. Willetts (KES, Birmingham) c Bartlett
h Honny 52 (9)
b Henry . 52 – (8) not out A. F. Tyler (Leeds GS) c Reynolds b Hussain . 42 – (5) retired
M A Atherton (Manchester GS) a Mayer b Hyperin 22 (7) fellied
*T M Lord (Redford Modern) b Payrolds 20 (2) Pills
M. P. Rea (Ranger College) a Billington b Street 29 (1) U Billington b Reynolds 5
N I Pringle (Taunton) run out
P. M. Vincent (Dean Close) lbw b Mays 11 – (3) c Billington b Reynolds 3 †J. C. Lister (Ashville) b Mays 12 – (4) c O'Connor b Henry 41
1. 11. Garratt (Beaford Moderni) low o ricatii
M. I. W. Russell (Oundle) not out 0
Extras 8 Extras 9
1/02 2/11/1 2/122 1/12
1/83 2/114 3/139 4/154 (9 wkts dec.) 229 1/10 2/22 3/45 (6 wkts dec.) 219
5/158 6/179 7/216 8/225 9/229 4/95 5/150 6/206
R. P. Holt (Shrewshury) did not bat

Bowling: First Innings—Stuart 14–3–45–1; Henry 13–3–40–1; Mays 19–5–48–2; Hussain 11–2–22–2; Heath 8–0–38–1; Reynolds 7–1–28–1. Second Innings—Stuart 10–3–18–0; Reynolds 18–5–61–2; Heath 9–1–38–1; Mays 7–1–17–0; Henry 9–4–37–1; Hussain 15–6–39–1.

Southern Schools

M. O'Connor (King Edward VI, Southampton)
c Garratt b Russell . 0 - (4) c Lord b Atherton
G. R. Reynolds (Wellington Coll.) b Pringle 59 – (8) not out
*A. S. A. Townsend (<i>Oundle</i>) c Lord b Holt 44 – (7) not out
T. J. G. O'Gorman (St George's, Weybridge)
c Atherton b Pringle . 15 – (5) c and b Garratt
N. Hussain (Forest) c Lister b Atherton 6-(1) run out 44
R. J. Bartlett (<i>Taunton</i>) not out
C. S. Mays (Lancing) c Garratt b Russell 27
I. L. M. Henry (Winchester) not out
I. C. D. Stuart (King's, Bruton) (did not bat) -(3) lbw b Holt
Extras 8 Extras
1/0 2/72 3/115 4/121 (6 wkts dec.) 195 1/69 2/83 3/89 4/174 (6 wkts) 250
5/129 6/176 5/205 6/235

S. D. Heath (KES, Birmingham) and †A. M. Billington (Pocklington) did not bat.

Bowling: *First Innings*—Russell 12–6–29–2; Vincent 12–2–38–0; Garratt 9–1–36–0; Holt 12–4–39–1; Pringle 9–1–29–2; Atherton 6–1–16–1. *Second Innings*—Russell 8–1–43–1; Pringle 9–0–45–0; Willetts 6–3–8–0; Holt 10–2–26–1; Garratt 12–0–53–2; Atherton 9–2–26–1; Rea 3–0–16–0; Vincent 7–0–26–0.

HMC SCHOOLS v ESCA

At the Saffrons, Eastbourne, July 23, 24. Drawn. Electing to bat on a wicket of variable bounce, HMC Schools made slow progress against a tight attack in which Robinson bowled particularly well. ESCA's reply was dominated by a fine century from Redpath, who had put on 143 with Billington when Roseberry declared six overs before the close, only to be thwarted by bad light in his quest for a quick wicket. HMC Schools again struggled on the second day against the seam bowling of Cheeseright and Bussey, Atherton once more holding the innings together. ESCA, chasing 153 in 130 minutes, lost Bail, Roseberry and Ward for 40 and, after a brilliant leg-side stumping by Lister had accounted for Billington, they settled for a draw.

HMC Schools
N. A. Willetts (KES, Birmingham) c Billington
b Robinson. U-b Cheeseright
A. F. Tyler (Leeds GS) c Roberts b Hills 36 - b Cheeseright
M. A. Atherton (Manchester GS) c Roseberry
b Robinson . 48 – b Cheeseright
*A. S. A. Townsend (Oundle) lbw b Bussey 0-(5) b Bussey
T. J. G. O'Gorman (St Georges, Weybridge)
c Roseberry b Hills . 28 – (6) b Bussey
N. Hussain (Forest) c Roseberry b Robinson 0 - (9) run out
c s Mays (Lancing) c and b Hills
P. M. Vincent (Dean Close) c Billington
b Robinson . 17 – (4) c Roberts b Bussey 9
G. R. Reynolds (Wellington Coll.) not out 21 – (7) run out 12
tJ. C. Lister (Ashville) run out
M. I. W. Russell (Oundle) (did not bat) – not out
Extras 7
1/0 2/71 3/72 4/109 5/115 (9 wkts dec.) 184 1/6 2/21 3/40 4/50 5/77 160
6/136 7/145 8/178 9/184 6/112 7/151 8/152 9/157
Bowling: First Innings—Robinson 17-7-35-4; Cheeseright 15-3-43-0; Bussey 8-4-27-1;

Bowling: First Innings—Robinson 17–7–35–4; Cheeseright 15–3–43–0; Bussey 8–4–27–1; Hills 20–3–68–3. Second Innings—Robinson 14–3–52–0; Cheeseright 15–7–29–5; Bussey 17–6–33–3; Hills 16–3–39–0.

ESCA

*M. A. Rose	berry (Durham) b Russell 5-c Atherton b Mays 9
	Barnstable, Essex) not out
A. Goldsmith	h (Seaford) c Lister b Russell 27 - (5) c sub b Russell 16
D. Billington	(Kirbie Kendal) not out 51 - st Lister b Mays
	extable, Kent) (did not bat) – (3) lbw b Mays
	(<i>Millfield</i>) (did not bat) – (2) run out
I. Bussey (W	eston-super-Mare Tech) (did not bat) -c O'Gorman b Mays 19
D. G. Hills (Poole GS) (did not bat) – not out
Ext	ras 5 Extras
1/7 2/49	(2 wkts dec.) 192 1/8 2/40 3/40 4/64 (6 wkts) 107
	5/70 6/101

tM. L. Roberts (Helston CS), N. Cheeseright (Wetherby HS) and M. Robinson (Hull GS) did not bat.

Bowling: First Innings—Russell 8-2-26-2; Reynolds 5-1-21-0; Mays 22-5-55-0; Atherton 12-1-45-0; Vincent 4-0-24-0; Hussain 3-0-16-0. Second Innings—Russell 16-5-49-1; Mays 21-9-34-3; Atherton 5-1-13-0.

Details of the match between MCC Schools and the National Association of Young Cricketers may be found in Other Matches at Lord's, 1984.

Reports from the Schools

Incontrast to 1983, the dry summer of 1984 brought few abandoned schools matches and, as in the first-class game, a wealth of runs. New records were set and eight schoolboys passed 1,000 runs: N. J. Lenham of Brighton (1,534), M. A. Roseberry of Durham (1,288), M. O'Connor of King Edward VI, Southampton (1,188), T. M. Lord of Bedford Modern (1,071), N. Hussain of Forest (1,070), R. T. Nuttall of Pocklington (1,053), M. A. Atherton of Manchester GS (1,013) and A. S. A. Townsend of Oundle (1,005). Lenham and Roseberry both passed the previous Public Schools post-war record of 1,277, set by I. C. Campbell of Canford in 1946, Roseberry scoring his runs at an average of 107.33, while eight averaged over 50 and five over 70. Atherton (61), Lenham (50) and Hussain (48) also took 40 or more wickets.

Abingdon's well-balanced side, with only one defeat, achieved a record nine wins, including those v Pangbourne, Oratory, Brentwood, Berkhamsted, Reading, Magdalen and Colchester. The opening batsmen, M. T. Boobbyer and B. E. Woolley, scored centuries and passed 50 eight times each, while M. A. Marsden (left-arm fast-medium) was the outstanding all-rounder. For

Alleyn's, whose varied bowling lacked penetration, G. Edwards (fast-medium) took five for 1 v Wilson's in his first season. The batting tended to be brittle, with only R. Preston reaching three figures. After a hesitant start, Allhallows finished the season well, thanks to a strong opening attack spearheaded by E. R. M. Gard, whose 58 wickets included eight for 27 v Milton Abbey, and P. J. P. Turner (fast-medium). W. R. Frost impressed with 105 v Wellington School in his first full season.

A talented Ampleforth side, though often failing to exploit winning positions, none the less beat Stonyhurst, Worksop, Pocklington and Blundell's. Under the astute captaincy of W. Beardmore-Gray the fielding was keen but the batting tended to disappoint. A young Ardingly side found it hard to bowl out opponents, but their batsmen provided some exciting finishes. In a disappointing season for Ashville College, the attack relied too much on A. Perkins (fast-medium) and the captain, J. C. Lister, who was their leading batsman and played for Yorkshire Schools and HMC Schools.

Previously unbeaten since 1979, **Bablake** lost to Solihull and King Edward's School, Birmingham; to the latter again in the final of the Birmingham and Warwickshire Under-19 Cup. Leading all-rounders D. C. Percival and fifteen-year-old E. T. Milburn represented Warwickshire Under-19. A young **Bancroft's** side was carried by the batting of the captain, J. P. Thomas. However, R. W. Hubbard, K. R. Gold and V. D. Masani batted promisingly. All-rounder Gold took eight for 93 v Incogniti, but an already weak attack suffered from the absence at the end of the season of their opening bowler, P. J. Savage.

Bangor GS, who enjoyed eighteen wins, were led by M. P. Rea, who took his school career aggregates to 2,654 runs and 103 wickets: he played for The Rest v Southern Schools as well as for the Irish Under-23 XI. The McCall brothers joined him in scoring centuries and R. B. Millar excelled behind the stumps with 39 victims (24ct, 15st). An inexperienced **Barnard Castle** side achieved three of their six schools wins – v King Edward VII Lytham, Solihull and University College School London – in their last three matches. E. P. Seery (fast-medium) captured 55 wickets, a school record. Serious injuries to two leading players hampered **Bedford School**, who none the less beat The Leys and Bedford Modern. G. S. Buchanan dominated the batting, well supported by A. Waldock, M. P. N. Waterfield, the captain, and S. J. Purdy, while the young fast-medium swing bowler, J. E. Crooker, led the attack. The slow left-arm spin of M. B. Abington was a valuable discovery at the end of the season.

Bedford Modern's eight wins included those v Christ's College Cambridge, Queen's College Cambridge, Kimbolton, Wellingborough, The Perse and Stowe. T. M. Lord, whose school record of 1,071 runs included four hundreds, and N. A. Stanley established a successful opening partnership. Off-spinner P. A. Garratt's 65 wickets included eight for 14 v The Perse and fifteen-year-old A. D. McCartney took seven for 49 v Royal GS, Worcester. Lord and Garratt played for The Rest v Southern Schools. In a disappointing season for Berkhamsted, highlights were an innings of 119 before lunch by M. A. Hodges at the Framlingham Festival and a return of eight for 49 v Kimbolton by S. P. Hunt. Each of the first four Birkenhead batsmen made a century, while S. McGowan, an off-spinner, reached 100 wickets for the school and played for North and Midlands Schools. D. R. K. Windler, a seam-bowling all-rounder, topped both averages. Under the positive captaincy of R. J. Wilkinson, Bishop's Stortford College equalled the school record of nine wins. A strong attack which included three spinners bowled out the opposition eight times and was excellently supported by the wicket-keeping of P. Bashford. The side batted in depth, achieving seven of their victories chasing a target.

Highlights for **Bloxham**, in a season of poor results, were returns of eight wickets by J. Hartwell v Bromsgrove and P. Rozee v Worksop, as well as I. R. Davies's all-round performance v Dean Close when he made 70 runs and took seven wickets. A young **Blundells** side recorded wins v Plymouth College and Canford, against whom R. K. Giles (slow left-arm), in his first season, took seven for 3. Unbeaten for the second successive season, **Bradfield** attributed their success to accurate bowling backed up by outstanding fielding. The captain and wicket-keeper, H. J. Norman, revealed outstanding qualities of leadership. Their opening batsmen, R. M. Layton and J. M. Tremellen, both passed 500 runs, the latter featuring in an unbroken second-wicket stand of 227 v Westminster with the left-hander, R. M. F. Cox. A six match tour of Bermuda concluded the season.

Another successful season was reported by **Bradford GS**, whose strength was their batting most of their ten victories came when they batted second. Openers P. A. Greenwood and J. B. Gray were consistent, while wicket-keeper A. A. D. Gillgrass and C. E. Nichols, both of whom played for Yorkshire Senior Schools, scored briskly in the middle order. The bowling was less

strong, although A. M. Broadbent (fast-medium) performed admirably and much use was made of the spinners, I. J. McClay (left-arm) and T. H. C. Balaam (leg-spin). Brentwood's attack lacked penetration, leaving too many matches drawn. A. P. Connelly, in his first season, headed the batting averages and frequently held the innings together. In an outstanding season Brighton College won a record fifteen matches under the leadership of N. J. Lenham, whose 1,534 runs, including a double-century, set a new Public Schools post-war record. With 50 wickets, Lenham also headed the bowling, which dismissed thirteen sides, eight for under 100. He played for Sussex and was selected to tour West Indies with the Young England side in January 1985. An unbeaten century by G. Binns in their win over Monkton Combe was a highlight for Bryanston, who also beat Milton Abbey, the XL Club and Wimborne CC.

P. G. Edwards (slow left-arm, right-hand bat), the captain, headed the averages for Canford, who beat Downside and Bryanston. Particular features were an innings of 123 v Bradfield by J. R. Doble and the right-arm fast bowler, J. A. Rivett's hat-trick v Taunton – one bowled, two caught and bowled. For Charterhouse, who bowled out Eton to win by 114 runs, J. C. Golder scored 116 v Tonbridge, while A. J. Whitmore (fast-medium) returned seven for 47 v Harrow. Cheltenham College's experienced side did not perform as well as had been hoped, although R. P. W. Thompson hit a chanceless hundred in their win over St Edward's, Oxford. Finishing the season without a win, Chigwell could reflect on their inability to prise out the last batsmen to force a possible victory. They depended heavily on J. R. Maskey, who scored more runs and took more wickets with his leg-spinners than anyone else.

High hopes for 1984 were not fulfilled either by **Christ College, Brecon,** although their fielding was frequently noteworthy. J. W. Lewis played some pleasing innings, K. Noble hit the side's only hundred to win the match v Lisvane CC off the last ball, and there was some incisive fast bowling from P. D. Thomas, who played for Worcestershire Under-19. Playing attractive cricket, **Christ's Hospital** owed much to the powerful batting of P. J. Goodwin, J. A. Pritchard, C. J. Allen and A. R. Lambourne. However, the attack suffered from Pritchard's inability to bowl for much of the season, owing to a rib injury, although R. D. Mayo delivered his off-spin to good effect with support from Goodwin, who played for Sussex Under-19 Schools. For **City of London** D. M. Kutner took eight for 26 v Homerton.

Clifton reported a frustrating season, five defeats following good wins v Taunton and Blundell's. The captain, S. C. Hazlitt's 762 runs, including two centuries, were within 5 runs of the school record, and A. J. A. Cole, batting at No. 5, showed much promise. Colfe's blamed their failure to achieve victories from promising positions on the weakness of an attack which relied heavily on the left-arm opening bowler, K. Boxall, to achieve a breakthrough. The captain, A. Saleemi (medium), returned eight for 36 v Alleyn's and excelled as a hard-hitting batsman. For Colston's, who beat Bristol GS, Colham GS, St Brendan's and Prior Park College and featured in some high-scoring matches, the opener, J. N. Stutt, achieved a school-record 903 runs, including three hundreds. Enthusiasm and determination characterised the Cranleigh side, who defeated Epsom and Christ's Hospital. The bowling was tight, backed up by sound fielding, but the batting was less reliable, the middle order often proving prone to collapses.

The captain of **Dame Allan's School**, P. G. Clark, led by example, heading the batting averages, including an innings of 91 in an hour v Queen Elizabeth GS, Hexham, and taking the most wickets. T. Fitzpatrick was an effective opening bowler, while J. M. Waller and the left-handed O. C. Roberts batted well in a line-up which tended at times to be brittle. A series of uneventful draws summed up the season of **Dauntsey's**, whose bowling was often wayward. A. Brooks, who played the side's only three-figure innings and took the most wickets, emerged as a fine all-rounder. **Dean Close** were indebted for their successful season to the all-round ability of their captain, P. M. Vincent (left-hand bat, right-arm medium), who had scores of 100, 94 and 108 in three consecutive matches and played for HMC Schools. H. M. Davies-Thomas was a fine wicket-keeper and hard-hitting batsman; R. N. Lindsay was a quick, if occasionally erratic, opening bowler.

Denstone were too often let down by their batting, but with eight of the XI returning they hope for better results in 1985. For **Douai**, who enjoyed their best season since 1970, R. J. Weston took 58 wickets, including eight for 40 v Magdalen College School and seven for 41 v Pangbourne. Losing only to the XL Club in the last match of the season, **Dover College** owed much to the Australian left-hander, S. A. Bouvier, whose 925 runs at 71.15, including two centuries, were a school record. D. M. Carrion took 61 wickets – more than twice as many as the next bowler. Memorable for **Downside** was the drawn game v Taunton in which, chasing Taunton's 169 for nine declared, they finished with 169 for nine themselves. **Dulwich** flourished under the captaincy of C. J. Webb, an aggressive left-hand bat, who scored one of the side's three

centuries. J. R. Hearn, who took more than three times as many wickets as the next bowler, equalled T. E. Bailey's school record of 61 wickets in a season, while wicket-keeper J. P. S. Jones equalled the school record of six catches in the match v Ampleforth. Outstanding for Durham was the captain, M. A. Roseberry, who collected a record 1,288 runs at 107.33 and 41 wickets. He captained ESCA and MCC Schools, played for Durham in the final of the Minor County Championship and was selected to tour West Indies with England Young Cricketers in January 1985.

The season of **Eastbourne College** contained some exciting close finishes. In the drawn match v Cranleigh, wicket-keeper F. J. Westlake rescued his side from 9 for four with a magnificent unbeaten 128 – only to drop the last Cranleigh batsman in the penultimate over. S. H. C. Cosstick batted consistently, and at times with aggression, and R. C. A. Clarke took the most wickets with his off-spinners. **The Edinburgh Academy** remained unbeaten in Scotland, owing much to J. D. Kudianavala, whose 922 runs included one century and nine half-centuries, and who took 42 wickets with seamers and 28 with leg-spinners. Delayed declarations were a feature of a frustrating season for **Elizabeth College**, **Guernsey**, although a good win v King Edward VI, Southampton, was a highlight. The fielding was sound, J. Vender excelling, and the bowling improved, but the batting often became bogged down. A talented **Ellesmere College** side failed to fulfil its potential. Games were lost because of wayward bowling and dropped catches, and although towards the end of the season J. Holmes scored three half-centuries, the batsmen overall failed to consolidate.

Without reaching the heights of the previous two years. Eltham, with a youthful team, provided tough opposition for most schools. L. A. O'Leary was a resolute opening batsman/wicket-keeper and B. A. Holcombe, although disappointing with the bat, was a hostile opening bowler. Emanuel, despite strong batting, led by the captain, I. M. Carrick, also a useful medium-fast bowler, had a disappointing season with only one win. High scores, often over 200, were a feature of many matches, but the fielding on the whole was untidy. Defeated only by Haileybury, Enfield owed their excellent results, including a first win v MCC, to the leadership of R. Eustance, their depth of batting and an excellent attack, featuring N. Jackett (slow left-arm) and the elder Taylor (right-arm fast), whose 62 wickets included eight for 13 v VRA (Amsterdam). A young Eton side, whose batting was often inconsistent, were carried by the fast bowling of C. G. M. Redmayne. The only three-figure innings came from N. E. Evans-Lombe-104 not out v Radley. Highlights for Exeter were innings of 116 not out by I. D. Hayter v Blundell's and 101 not out by M. P. D. Dixie v Shebbear College.

Felsted were the most successful school at the Clifton Festival, with victories over Tonbridge, Eastbourne and Winchester. There was encouraging bowling by three Colts, R. P. Haywood, D. H. J. Griggs and B. J. S. Cooper, while P. A. Nicholls and T. I. Haynes formed a solid opening partnership. S. S. J. Miller hit two hundreds. Fettes College reported a better season than expected, with good wins v Glenalmond, Strathallan and Loretto. The batting relied on C. Davidson, and their main strength was the opening attack of N. Cheape and M. Illingworth. Undefeated for the second successive season, Forest recorded eight wins, including those v Felsted, City of London, Colchester and Westminster. N. Hussain was the first to pass 1,000 runs for the school since C. D. McIver in 1900-01: he hit five centuries and featured in an opening stand of 139 in 70 minutes v Felsted with the captain, M. D. I. Sheppard, Both represented Essex Under-19, while Hussain also played for HMC Schools and Essex Under-25. His 48 wickets included returns of six for 44 v Haberdashers' Aske's and six for 5 v Westminster, against whom he made 109. With eleven wins, Framlingham were unbeaten by schools. The XI was dominated by the captain, N. C. J. Holmes, and R. D. O. Earl, both opening batsmen and slow left-arm bowlers.

Although Giggleswick achieved only one win, they were well served by the opening attack of I. T. Robinson and A. J. Fowler, and encouraged by the promise of S. N. Youdale, a left-hand bat. A young Glasgow Academy side owed their successful season to a strong attack, especially R. J. Oliver, who took seven wickets in an innings on three occasions, and D. H. K. Robbins, both medium pace. Glenalmond's batsmen flourished, G. M. Sommerville scoring two hundreds and representing Scotland Under-19, while the young bowlers improved with experience.

Haberdasher's Aske's, fielding a relatively inexperienced team, found wins hard to come by, especially with a bowling attack which, with the exception of C. J. Davis (right-arm medium) and R. C. Downes (slow left-arm), was rather weak. A tour of Devon was undertaken at the end of the season. Excellent team spirit brought success for Haileybury, whose strength lay in their batting. N. R. Venning scored 113 not out v Mill Hill and 116 not out v Dulwich, against whom he and M. G. Smith put on 160 for the third wicket. Though a talented Hampton GS XI often relied on their lower-order batsmen to rescue the innings, good wins were recorded against John

Lyon, St Benedict's, Latymer, Tiffin and Emanuel. Both C. Hind and A. R. Collins scored centuries, and together with J. P. Shepherd (slow left-arm) and S. J. Young (leg-spin) raise expectations for an even better season in 1985.

A young Harrow side were defeated only by Radley in schools matches. The batting was steady, while J. J. Pethers and D. B. M. Fox at fast-medium, and D. C. Manasseh and M. R. Middleton, both slow left-arm, caused most schools problems despite their relative inexperience. Hereford Cathedral School improved towards the end of the season. P. J. Butler, who will captain the XI in 1985, and L. H. Shutler played important innings, but in the attack there was insufficient support for D. C. Boucher (fast-medium) and the captain, N. J. Startin (slow left-arm). Highgate were disappointed with their results, although they scored good wins v The Leys and St Paul's. The batting relied to a great extent on N. K. F. Banks, while the bowling was carried by the seam attack of P. J. Haynes, who took the most wickets, and A. Margai. Hipperholme, too, were disappointed that their first uninterrupted season for twenty years did not bring better results. The batting was brittle, and there was no real support for the captain, A. Philburn, with the ball. For Hurstpierpoint, who beat Seaford, Worth, Reigate GS, Eastbourne College, Bloxham and Ellesmere, M. P. Speight's aggregate of 777 runs was a school record, as were his 38 catches behind the stumps.

In an improved season, **Ipswich** beat Woodbridge, Culford and St Joseph's, against whom the captain, T. Rollett, scored a chanceless unbeaten 104. J. Zagni and J. Bryden, who reached three figures v Framlingham, also batted well, while D. Patient was too sharp with the ball for most sides and the guile of S. Alderson puzzled opposing batsmen. The inexperience of a young **Kelly College** side showed especially in their batting, with only P. G. Shering and R. M. Summerell making runs regularly. The attack, steady and balanced, was let down by poor felding. Unbeaten, **Kent College** enjoyed their best season for many years, thanks mainly to the solid batting of the captain, R. M. Hodgkiss, and A. J. MacGregor. An exciting seven-wicket win over Sutton Valence came off the last ball.

Highlights for **Kimbolton** were convincing wins v The Perse, when the captain, R. A. Johnson, reached three figures, and v Wellingborough, who lost seven wickets for 15 to the pace of A. W. Caswell. Winners of the Grammar Schools Knockout Cup, **King Edward's**, **Birmingham**, achieved thirteen victories. Outstanding were N. A. Willetts, with three hundreds in his 942 runs and a return of seven for 35 v Pocklington, and leg-spinner S. D. Heath, whose 57 wickets included five in a match on five occasions, with seven to 33 v Dudley. Fifteen-year-old N. Martin headed the batting averages. Willetts played for the English Schools as well as for Schools at Eastbourne, where Heath represented Southern Schools. For **King Edward VI** School, Southampton, the captain, M. O'Connor, hit five centuries and an aggregate of 1,188 runs, 299 more than his school record of the previous season; he played for Southern Schools and Hampshire Second XI. P. May, with a mixture of off- and leg-spin, was the leading wicket-taker, while M. Hickman and J. Donaldson formed an effective opening attack. Hard work and excellent team spirit brought five wins and only one defeat for **King Edward VI College**, **Stourbridge**, for whom N. A. Barrett (slow left-arm) had a remarkable season, twice taking nine wickets in an innings and once capturing four wickets in four balls.

With a young side – seven of them under sixteen – King Edward VII School, Lytham, were encouraged by the promise of C. Lodge (off-spin) and I. Ball (medium), the all-round ability of the opening batsman, M. Hawthornthwaite, and the sound captaincy of R. Shannon. An enjoyable cricket festival was held at the school with University College School London, Solihull and Barnard Castle attending. A satisfactory season was enjoyed by an inexperienced King Henry VIII, Coventry, side who, with a wayward attack, achieved their best results when chasing runs. King William's College, Isle of Man, reported some exciting finishes. Their side depended on the captain, S. C. Watson, for runs – he hit three centuries – and A. J. Corlett (left-arm fast-medium) for wickets – five or more in an innings five times, including seven for 65 v Merchant Taylors', Crosby.

In another successful season, King's College, Taunton, recorded wins v Wellington School, Queen's Taunton, Canford, King's Bruton and Downside. Their success was founded on the batting of left-hander R. G. Twose, who made two hundreds, and J. T. S. Chippendale, as well as the bowling of H. D. W. Wordsworth and G. K. Barber (both fast-medium). Barber returned seven for 57 v Queen's Taunton and with Twose played for Somerset Second XI. A tour of Barbados was undertaken in August. In a strong batting line-up at King's College School, Wimbledon, J. P. Feltham and the left-handed P. J. Graham were prominent, the latter scoring 108 not out in a winning total of 135 v The Hague CC on a tour of the Netherlands. P. S. Noble, the captain, and M. Woolnough both bowled steadily throughout.

The all-round excellence of the captain, I. C. D. Stuart, who was selected for Southern Schools, was the foundation for the most successful season for ten years at King's, Bruton. A well-balanced attack, with two younger members, M. A. Walton (slow-medium) and C. G. Cowell (slow left-arm), making a significant contribution, was backed up by the high standard of fielding, led by the example of J. C. Enderby behind the stumps. A similar story came from King's School, Canterbury, who finished the season unbeaten after a thrilling finale v King's College School, Wimbledon, in their last match. Only once bowled out themselves, they dismissed eight other schools and were intelligently captained by R. W. G. Oliver. A young King's School, Chester, side had to wait six matches for their first win, but could take encouragement from the performances of the left-handed T. R. M. Jones, who hit 108 not out v the XL Club, and G. Park (off-spin), who returned seven for 49 v Sir John Deanes.

Another young side, King's School, Ely, won ten of their matches. M. Chamberlain's 792 runs were a school record, and opening bowler J. R. G. Bouverie took 41 wickets at an average of 8.00. In a satisfactory season, The King's School, Macclesfield, defeated King's Chester, King William's School (IoM), Bangor GS, Merchant Taylors' Crosby, Arnold and – for only the second time – MCC. C. J. Belfield and the captain, D. B. Rousham, were the leading batsmen, while D. G. Walker (fast-medium) and J. C. Sandford (slow left-arm) headed the bowling and were well supported by R. G. Diggle, until he was injured.

For **The King's School, Worcester**, who had a disappointing season, highlights were N. Marsh's century against Bablake and the consistent performances of J. Mackie. More attention to line and length would have helped the bowlers. Injuries to their captain, S. H. Clayson, and S. C. R. Cox, keeping them out of the side until after half-term, meant that **Kingston GS** got off to a slow start. None the less, Clayson scored the most runs, including a second successive century MCC, and achieved a record three-year aggregate of 1,848 runs, surpassing by 19 the old record of R. D. A. Dodds. I. Robinson, batting at No. 8 or 9, scored 438 runs, including 85 in 55 minutes v Trinity, and fourteen-year-old R. A. White showed all-round promise.

In schools matches Lancing were beaten only by Tonbridge and Brighton – both off the last ball and the latter in the final of the Langdale Cup. J. D. Robinson made the side's only hundred – 130 not out v Brighton, against whom he and the captain, I. C. Martin, put on a record unbroken 205 for the third wicket, the total of 272 for two declared also being a record. In his fifth season C. S. Mays, who played for ESCA, HMC Schools and Sussex Second XI and was selected for the Young England side to West Indies in January 1985, scored the most runs and with his off-spin captured 38 wickets, including a hat-trick v Cranleigh. The leading bowler, though, was J. N. P. Davies, whose hostile speed and late out-swing brought 47 wickets, which was a school record for a fast bowler and included seven for 34 v Christ's Hospital. For Leeds GS, beaten only by Manchester GS in schools matches, A. F. Tyler, the captain, scored the most runs and played for HMC Schools as well as captaining Yorkshire Schools, for whom G. R. Tyler, the leading wicket-taker, also played.

Four early defeats for **The Leys** were off-set by impressive end-of season victories v Gresham's and St Paul's, the latter by an innings in a two-day match. J. D. R. Benson, an attacking right-hand bat, scored 977 runs, passing 50 eleven times and hitting three hundreds, as well as playing for Cambridgeshire in the Minor County Championship. Strength in every department left **Liverpool College** undefeated. The captain, P. D. Williams, headed the batting, and with A. N. Hughes established a record for the first wicket of 207 unbroken v MCC. A strong attack featured the pace of A. P. Hanson and Williams, supported by the off-spin of J. A. Brown.

Llandovery College, unbeaten by schools, achieved good wins v Christ College Brecon, Hereford Cathedral School and Ruthin School. The captain, G. E. Owen (fast-medium), took 49 wickets, including six or more in an innings on five occasions; S. Meredith, the wicket-keeper, starting the season with three consecutive centuries, scored the most runs and represented Welsh Schools. Lord Wandsworth College managed only one win, although A. M. Blows scored two hundreds and, having given up his position behind the stumps to open the bowling, came second in the averages. A. J. Phillips emerged as a promising left-hand bat and wicket-keeper. The middle order of Lord Williams's College, Thame, often squandered the excellent start of their opening batsmen, A. Deans and G. Westlake, with the result that the side was bowled out for under 100 on three occasions. The attack lacked incisiveness and variety, although P. Jobson was always accurate.

In a season of rebuilding, a young **Magdalen College School** side beat Dean Close and Oratory and had an exciting tied match v Shiplake. With most of the side returning in 1985, prospects

are good. A tour of Barbados preceded an unbeaten season for Malvern, whose captain, N. R. C. MacLaurin, excelled with the bat: v Clifton College he hit an unbeaten 152 out of a total of 189 for three. R. Wothers was an enthusiastic wicket-keeper, making some excellent stumpings, while J. M. Davey bowled his off-spin with admirable variation and control. S. F. Harris, who opened the attack, bowled tirelessly, often working up considerable speed and hostility: he also played several sterling innings. Confidence rose as the term progressed and notable victories were achieved v Shrewsbury, Rugby and Charterhouse at the end-of-season festival at Malvern.

Outstanding for Manchester GS was the captain and English Schools representative, M. A. Atherton, who also played for Lancashire Second XI. His aggregate of 1,013 runs and five hundreds were both school records. Bowling leg-spin he captured 61 wickets, taking six in an innings on three occasions, and was well supported by M. A. Crawley with the bat and I. D. Botterill (medium) and G. Yates (off-spin) with the ball. Team spirit was excellent, as was the felding, especially that of C. Zis at slip and N. Davenport in the covers. E. M. C. Alexander claimed 34 dismissals behind the stumps. A young Marlborough side beat Clifton, St Edward's, Sherborne and Rugby, the latter by 12 runs after being 0 for four. In an exciting match v Wellington College, Marlborough lost their ninth wicket off the last ball, with the No. 11 batsman absent ill, but after reference to Lord's the match was declared drawn. The mainstay of the batting was J. E. J. Morris, while the burden of the attack fell on the opener, J. C. Makin, and the captain, R. T. Thicknesse, whose slow left-arm spin was missed in the last six matches when he was injured.

Merchant Taylors', Crosby, with two wins, were handicapped by brittle batting and an attack, spearheaded by the fast-medium pace of S. R. Edgington (left-arm) and T. J. Judge (right-arm), which lacked a genuine spin bowler. In the absence through illness of wicket-keeper J. M. C. Potter, thirteen-year-old R. W. Glynne-Jones showed promise behind the stumps as well as with the bat. Merchant Taylors', Northwood, equalled the school record of eleven wins, thanks mainly to sound batting, headed by G. Cornelius, and the astute captaincy and accurate fast-medium bowling of A. J. Cornish. There was good support at fast-medium by fifteen-year-old D. W. R. Wiles, whose seven for 37 v Westminster was a highlight; so too was M. A. St C. Stewart's 132 off 147 balls on another occasion. Less successful were Merchiston Castle, who depended too much on the batting of opener A. G. Young, and whose attack lacked sufficient accuracy and variation.

Millfield, with perhaps their strongest team ever, were unbeaten and won the Barclays Bank Under-17 competition. The strong batting line-up, with five players scoring centuries, was headed by P. A. C. Bail who played for the English Schools and, with J. C. M. Atkinson, for Somerset Second XI. A balanced attack began with M. T. Parkinson and Atkinson, followed by the spin of P. J. Stephenson, Bail and B. J. M. Clube. Notable wins were v Marlborough, Bristol University, Plymouth College and the XL Club. For Mill Hill the captain, R. S. W. Roberts, scored the most runs and headed the bowling averages. His conversion from off-spin to medium-pace unbalanced the attack, but was justified in his nine for 27 in the win over University College School London. Roberts concluded the match with a spell of nine for 9, achieved with no fielder other than the wicket-keeper within 25 yards of the bat, and with the last two batsmen, off successive balls, being stumped.

Milton Abbey, for whom C. G. Bevan scored the only fifty, were unhappy with their results, but Monkton Combe had more success, thanks mainly to the batting of A. P. S. McDougal, who became the first to score 500 for the school in a season since 1971. With A. P. Fussell, the captain, he contributed a number of substantial opening partnerships which were built upon by I. C. Reid at No. 3. The attack was less strong, but G. P. W. Stainthorpe (fast-medium) made steady progress during the season. Another sound pair of opening batsmen were S. P. James and the left-handed M. F. Kear of Monmouth. They were backed-up by a strong middle order: four batsmen reached three figures and James did so on four occasions. G. A. Davies, the captain, had a fine all-round season, and was well supported by Kear and B. T. Kantolinna with the ball, although greater variety in the attack and surer fielding would have made the side more formidable.

Norwich's success in reaching the final of the Barclays Bank Under-17 Cup promised well for the future after a season in which the spin bowling of J. G. Crane (leg-spin), N. J. E. Foster and D. M. Orr (both off-spin) proved expensive and only three batsmen passed 50. The strong batting line-up of Nottingham HS was led by J. G. Morris, who reached 100 in 48 minutes v Ratcliffe College, taking his side to their target of 168 in 23 overs. J. A. Pitman played some match-winning innings, while the bowling revolved around the off-spin attack of G. D. Harding and the economical J. P. Heather.

The high point for **Oakham** in an indifferent season was the performance of D. A. Lewis, who took eight Ratcliffe College wickets for 26 and completed a haul of 95 in three seasons. Defeated only by MCC, **Oundle** beat The Leys, Mill Hill, Felsted, Rugby, Stowe and Uppingham. A. S. A. Townsend, the captain, was outstanding with 1,005 runs, the next highest aggregate being that of W. J. B. Ward at 368. J. S. Carr (leg-spin) took the most wickets, well supported by M. I. W. Russell (left-arm fast-medium) who, with Townsend, played for HMC Schools.

For The Perse School J. M. C. Stenner, the captain, was again an exciting stroke-player, with innings of 112 v Bishop's Stortford and 139 not out v St Edmund's, Ware. Forceful contributions came from C. P. Wass, whose 115 not out was crucial in the win v King's, Ely: at medium pace he also bore the brunt of the bowling. S. T. Whiteside (left-arm medium) took six for 40 late in the season to bring victory v Wrekin College. Pocklington achieved some fine wins batting second – notably v Sedbergh, St Peter's York, and The Edinburgh Academy – but their batting was prone to collapses. R. T. Nuttall, an astute captain, hit two centuries and became the first to top 1,000 runs for the school, while J. D. Nuttall (left-arm medium) took 67 wickets, just two short of the school record. A. M. Billington kept wicket splendidly and played for Southern Schools. Prior Park College won only one match – v Queen Elizabeth's Hospital, against whom A. A. D'Souza took six for 28 – in a season which began disastrously with five defeats in the first sixteen days. More was expected of the XI, but illness, injuries and an inability to take wickets upset predictions.

Radley, without one player from 1983's XI, beat Stowe (by nine wickets), Winchester, Marlborough and Harrow, the latter for the first time: a considerable achievement to which each member of the side made some contribution. N. E. Marsh scored almost twice as many runs as the next batsman and at fast-medium took the most wickets. Also rebuilding, Ratcliffe College did better than expected, defeating Rendcomb College, King's School Gloucester and Redknock School on an end-of-term tour to Gloucester. R. J. J. d'Mello was consistent with the bat, and A. P. C. Relton (left-arm medium) the best of the bowlers. For Reading, D. G. Purslow was a tactically sound leader whose 160 v Berkshire Gentlemen was the highest for the school in many years. Another noteworthy performance was the left-handed J. E. Grinsdale's 109 in the five-wicket win v Royal GS, Colchester.

The season for **Reed's** was characterised by prolific scoring, with A. P. Shiells (778), J. R. Jamieson (672) and the captain, A. M. J. Glass (628), all passing the previous school record. Lack of penetrative bowling left too many drawn games. Similar problems faced **Reigate Gs**, with their youngest-ever side, although once the batting had overcome early brittleness, they achieved seven wins. Four three-figure innings were played for the side, including two in succession by the captain, J. D. Morgan, on a tour of the Channel Islands in July, during which he shared a third-wicket partnership of 219 with T. J. Lander. A young **Repton** side exceeded expectations by achieving seven wins, including those v Wrekin, Worksop, Pocklington, Stowe and Cheltenham, against whom they recovered from the brink of defeat to win by 3 runs. Opening bowlers R. W. A. Pyne and P. J. A. Heathcote performed admirably, while the batting relied on the stylish N. P. Stocks, who hit two fine hundreds.

Defeated only by Shrewsbury in schools matches, Rossall attributed their success to solid contributions throughout the side. For Royal GS, Guildford, who reported last-over wins v Reigate, Wimbledon and Caterham, the batting was sound and the bowling unspectacular but steady. C. Livingston (fast-medium) showed promise in the later matches. Disappointed with their results, Royal GS, Newcastle lacked support for A. R. Hitchcock with the ball, although the batting was reliable, M. A. Reed and M. I. Scott usually providing a solid foundation and P. J. Hollis, a Colt, performing well at No. 3.

Fielding a strong batting side, **Royal GS**, **Worcester**, had their most successful season ever, with fourteen wins. Notable performances included an eighth-wicket partnership of 80 between D. M. Woodfield and I. G. Jinks to retrieve a desperate situation and bring victory over King's School, Worcester; also the dismissal of the XL Club for 45 and of Douai for 55 in reply to 230 for four declared. The captain, J. S. Phillips, scored 566 runs and took 54 wickets with his left-arm spin, while D. P. Spiller topped the batting averages in his first season; wicket-keeper A. J. Bottomer claimed a school record of 33 victims. A memorable victory for a young **Rugby** XI was the seven-wicket win v Clifton, against whom match figures of nine for 73 were recorded by H. Bhatia, who also took nine for 66 v Marlborough. Hundreds came from T. P. Skipper and D. J. Cleverly. **Rydal** were carried by the batting of their captain, J. T. Owen, for overall both the batting and bowling of the experienced members were bewilderingly variable. However, with most of the side returning in 1985, prospects are good.

Loss of form of some senior players and lack of experience of the younger ones left St Dunstan's with disappointing results, although with some promising Colts coming into the side, they, too, hope for greater success in 1985. G. Pointer was called up for Somerset Second XI. The captain of St Edmund's, Canterbury, A. P. Walton, scored a record 634 runs with two centuries, and took the most wickets. The strength of the side lay in the batting, with N. C. Hopper a consistent performer, and three of their wins came when batting last. An otherwise unmemorable season for St Edward's, Oxford, was brightened by D. A. Cane's 170 v Cryptics, which surpassed the school record of 164, set last century, and N. Goldson's record tally of 29 6s in the season.

Unbeaten by a school for the second successive season, St George's, Weybridge, owed their success to strong batting and a varied attack. T. J. G. O'Gorman, who headed the batting averages and took the second-most wickets, played for England Schools and MCC Schools. Although tending to specialise in drawn games, St John's, Leatherhead, were also unbeaten for the second consecutive season, thanks to solid all-round contributions from all members of the side. St Lawrence College, with a young side, could find encouragement for the future in wins v Sutton Valance, Sir Roger Manwood's and Kimbolton.

A strong batting order characterised **St Peter's**, **York**, with J. P. Atkinson hitting two hundreds and J. E. B. Burdass one. However, the bowling suffered from injury to the captain, G. Y. Taylor, and it proved beyond the attack to bowl out the opposing sides. A highlight was the seven-wicket win v MCC, the school's 214 for three including a stand of 180 in 68 minutes between Atkinson (103 not out) and Taylor (88). A young **Sedbergh** side found satisfaction in beating Durham, Stonyhurst and Glenalmond, against whom M. T. Alban (105 not out) and J. P. Cheetham (70 not out) put on an unbroken 187 for the first wicket. Despite a preponderance of drawn games, **Sevenoaks** played attractive cricket and were intelligently led by N. J. Polkinhorne. Promise was shown by two young players: C. J. Crang with the bat and A. Griffiths, whose slow left-arm bowling brought him seven for 45 v King's School, Rochester.

Never bowled out for the second successive season, the strong **Shrewsbury** XI won thirteen matches and lost only one, with A. D. Hobson, D. J. Pollock, J. O. Cadwallader and E. L. Home all playing three-figure innings and passing 500 runs. Outstanding with the ball was left-arm spinner R. P. Holt, who played for The Rest at Eastbourne and whose 68 wickets, including five in an innings on five occasions, took his school aggregate to 130. For **Simon Langton GS**, who were beaten only by Allhallows, relative inexperience was off-set by the influence of R. I. James, in his second year as captain. A feature was the return of seven for 38 v Allhallows by S. P. Sloman (fast-medium), who played for Kent Schools as did M. C. Dobson, a slow left-arm bowler and right-hand batsman who also represented the county schools at Under-16 level. Weak batting, with only one fifty scored, hampered **Sir Roger Manwood's** ambitions. V. C. Marsh, at medium pace, took seven for 20 v Queen Elizabeth's, Faversham.

With an attack lacking penetration, Solihull achieved six of their eight wins batting second. Not that the batting was always dependable. The captain, S. Frost, hit the side's only three-figure innings - 111 not out v University College School, London – although J. Brunskill played two match-winning innings and W. Swift became increasingly difficult to remove as well as excelling in the field. Too many winning opportunities were wasted by Stamford for whom G. M. Canham was a reliable batsman/wicket-keeper, and there was promise in the performances of all-rounder R. P. C. Plant and leg-spinner S. Atkinson. In the win v Oakham, Stamford rallied from 23 for four to 157 for seven. Also against Oakham, Stowe's C. Whitmore [fast-medium] returned eight for 15, going on to collect 49 wickets, despite persistent problems with injuries. In an inexperienced Strathallan side, N. H. McKee scored more than twice as many runs as the next highest, passing 50 nine times. The pace of T. J. Pawson often disconcerted the opposition. In a season of rebuilding, the batting of Sutton Valence relied heavily on the captain, J. P. Sunnucks, who was ably supported by S. P. Walton with the batl and R. J. Ashton (left-arm medium) with the ball.

Lack of a strike bowler handicapped **Taunton School**, for whom three centuries apiece were scored by N. J. Pringle and R. J. Bartlett, who represented The Rest and Southern Schools respectively. Pringle also played for Somerset Second XI. **Tiffin** began their season well with N. A. Legs scoring 117 in 92 minutes in their first match, v Royal GS, High Wycombe, and A. M. Morley-Brown making 124 not out in their second, v Emanuel. Slow left-arm spin bowlers M. R. Coote and W. Shermer again formed the core of the attack, good support coming from K. C. P. Pamphilon (medium) and S. P. Randall (fast). **Tonbridge**, with wins v Lancing, Wellington, Clifton, Bedford, Merchant Taylors' Northwood, Dulwich and Pembroke (Adelaide), lost only to Felsted in schools matches. The strength lay in their batting, which produced totals of more

than 200 in thirteen of their nineteen matches. The left-handed R. Owen-Browne hit one century and seven half-centuries; fifteen-year-old J. I. Longley followed him in the averages. The wicket-keeping of J. J. Longley attained a high standard and, although the attack was less potent, M. A. Hardcastle (off-spin) and W. J. Chaloner (left-arm medium) collected 77 wickets between them.

Highlights for Trent College, unbeaten by a school, were the nine-wicket victory v Oakham and one by 133 runs v Pocklington. Under the leadership of H. J. White, an excellent team spirit and aggressive out-cricket prevailed. T. P. Statham, who played for England Under-15, took eight Plymouth College wickets for 38. Powerful batting and a positive attitude brought some exciting last-over victories for Trinity, who lost only one school match. N. W. F. Redwood, as captain, led by example, taking most wickets with his leg-spin and scoring two hundreds in his 913 runs. Wicket-keeper D. H. Cooper's 923 runs included one hundred. An inexperienced Truro XI achieved mediocre results, although seven batsmen made fitties, P. S. Holmes showed all-round ability, and R. M. H. Bell revealed considerable potential as a seam bowler.

Occasionally inconsistent batting and lack of penetration in the attack brought a high proportion of drawn games for Uppingham, whose opponents often looked more interested in preventing defeat than in seeking victory. A. G. W. Lewin, with an unbeaten 126 v Felsted, looked a fine prospect as a wicket/keeper-batsman, while a return of seven for 31 from J. S. Williams brought a win v Ampleforth in a low-scoring match at the Oundle Festival. Despite the loss of several experienced players at the end of 1983, Victoria College, Jersey, had a successful season, founded on the batting of the captain, P. L. Lalor, the bowling of J. M. W. Giles and the all-round efforts of C. M. Graham.

The strength of Warwick's XI was in the batting, with large totals being compiled. Three batsmen reached three figures, N. M. K. Smith (son of M. J. K.) doing so twice. Lacking a genuine slow bowler, the attack consisted mostly of fast-medium seam, spearheaded by S. J. Holdsworth, which was in general short on accuracy and steadiness. Wellingborough were pleased with their tally of four wins v schools, including an outstanding performance v Stamford. Wellington College, however, were disappointed to win only their last two matches-v Repton and Bedford – attributing their lack of success to a below-average attack. G. R. Reynolds played for HMC Schools. Under the positive captaincy of J. W. Hine, Wellington School played some entertaining cricket. N. C. Hall-Palmer bowled with considerable efficiency, while Hine and T. D. Over batted stylishly.

Unbeaten in their first eight games, **Westminster** suffered defeat in four of their last five, blaming their demise on the batsmen's failure to realise their potential and build on the early-season successes, such as C. J. A. Morrell's aggressive 114 v Bradfield. Inexperience resulted in weak batting performances by **Whitgift** at the beginning of the season, although five wins were gained in six matches at the end of term and on a tour of the Netherlands, where R. Slatford took four wickets in four balls v VOC Rotterdam Youth.

In the first half of the season, William Hulme's GS drew their first match and won the next six, bowling out the opposition on each occasion – a new school record. Following a four-week break for half-term and exams, the batting lacked its earlier confidence, but there were some exciting last-over decisions. G. P. Benson took five for 6 v Rydal and his fellow-opener, M. J. Cross, five for 20. Despite six wins, Winchester, with more consistent batting, could have done better. The captain, I. L. M. Henry, who represented Southern Schools, played a key all-round role, while J. D. Dean bowled his left-arm spinners to good effect and J. D. R. Bygrave marked his last season for the XI with a glorious unbeaten 124 v Tonbridge.

For **Woodbridge**, S. Reeve had an outstanding season, while R. Jack achieved the side's best return of seven for 25 in his final game. **Woodhouse Grove** relied heavily on B. S. Percy, whose leading aggregate included 165 not out v Hawks CC, although his bowling was more expensive than in previous years. N. A. Ledgard had a good all-round season; M. E. Fox and C. R. Kippax, with the bat, showed promise for the future.

Worksop's young side improved as the season progressed, although they missed their stock seamer, J. P. Wilkins, out for six games because of illness. J. F. Grieveson scored a fine unbeaten 101 v Ellesmere College while Wilkins, with two half-centuries and a long bowling stint, won an award at the Woodard Festival. Lack of experience left Wrekin College with unfavourable results, although A. W. Hartley was a useful all-rounder and J. W. Whitfield an effective slow left-arm bowler. A more successful season was reported by Wycliffe College who beat Bristol GS, Marling, Colston's, Cheltenham College II, Kingswood and Hereford Cathedral School. P. Rowley scored heavily in the later matches; R. Hair (fast-medium) and A. Dickenson (off-breaks) were the pick of the attack.

THE SCHOOLS

(Qualification: Batting 100 runs; Bowling: 10 wickets)

* On name indicates captain. * On figures indicates not out.

Note: The line for batting reads Innings-Not Outs-Runs-Highest Innings-Average; that for bowling reads Overs-Maidens-Runs-Wickets-Average.

ABINGDON SCHOOL

Played 18: Won 9, Lost 1, Drawn 8. Abandoned 1

Master i/c: N. H. Payne

Batting—M. T. Boobbyer 14–2–708–131–59.00; B. E. Woolley 17–2–624–117*–41.60; M. A. Marsden 13–4–332–66–36.88; D. R. Newman 15–0–384–57–25.60; J. A. Cowan 14–2–213–52*–17.75; M. C. Cox 15–1–191–38–13.64.

Bowling—*M. C. Day 136.2–35–394–30–13.13; M. A. Marsden 223.4–71–503–38–13.23; J. S. Hutchinson 149.3–41–427–32–13.34; M. C. Cox 191–66–549–41–13.39.

ALDENHAM SCHOOL

Played 15: Won 7, Lost 1, Drawn 7

Master i/c: P. K. Smith

Owing to the loss of the scorebook, averages are not available.

ALLEYN'S SCHOOL

Played 18: Won 3, Lost 9, Drawn 6

Master i/c: J. F. C. Nash

Batting—C. O'Gorman 4-1-101-36*-33.66; J. Nash 17-0-437-76-25.70; *R. Preston 15-1-342-115*-24.42; J. Bridgeman 18-0-265-43-14.72; W. Grigg 15-1-197-37-14.07; H. Webber 16-6-134-27-13.40; S. Naish 15-1-169-36-12.07; J. Cockett 16-0-156-34-9.75; R. Antoniades 18-0-174-37-9.66.

Bowling—G. Edwards 96-20-280-20-14.00; H. Webber 230.4-63-592-38-15.57; T. Wareham 98.5-19-325-19-17.10; R. Antoniades 118.5-21-493-28-17.60; J. Nash 115.4-12-430-18-23.88.

ALLHALLOWS SCHOOL

Played 16: Won 8, Lost 5, Drawn 3. Abandoned 2

Master i/c: P. L. Petherbridge

Cricket professional: M. Hill

Batting—R. J. White 16-1-521-66-34.73; P. N. Fisher 14-2-279-60*-23.25; R. W. Metcalfe 8-3-105-67-21.00; *A. H. D. Harvey-Kelly 14-2-239-49-19.91; W. R. Frost 16-1-291-105-19.40; D. M. S. Apps 8-1-131-32-18.71; D. K. M. Shaw 16-0-247-52-15.43.

Bowling—E. R. M. Gard 194.1-42-546-58-9.41; P. J. P. Turner 150.3-38-469-33-14.21; S. P. White 74.4-18-225-10-22.50; J. R. Barber 82.1-10-313-13-24.07.

AMPLEFORTH COLLEGE

Played 16: Won 6, Lost 2, Drawn 8

Masters i/c: J. G. Willcox and J. Felix Stephens

Batting—*W. Beardmore-Gray 17–2–437–85–29.13; J. N. Perry 16–0–437–62–27.31; N. R. Elliot 16–4–323–50–26.91; C. P. Crossley 17–1–297–49*–18.56; S. J. Kennedy 17–1–246–42*–15.37; N. J. Read 17–0–240–79–14.11.

Bowling—W. Beardmore-Gray 55-20-134-10-13.40; N. Read 148-54-316-19-16.63; P. A. Cox 307.2-85-819-46-17.80; J. N. Perry 182-48-443-23-19.26; S. Evans 120.3-39-360-14-25.71; J. Porter 124-27-314-11-28.54.

ARDINGLY COLLEGE

Played 14: Won 2, Lost 7, Drawn 5. Abandoned 1

Master i/c: N. D. Duncan

Batting—R. Mitchell 14–3–527–100*–47.90; D. Gardner 12–7–157–43–31.40; T. J. Card 7–0–211–59–30.14; D. Goodwin 14–1–340–86–26.15; C. Thorne 14–0–272–98–19.42; C. Johnson 12–0–206–66–17.16; D. Smith 13–2–177–33–16.09; D. Pullan 9–0–117–43–13.00.

Bowling—T. Card 59-11-243-12-20.25; F. Mitchell 127.2-15-437-20-21.85; D. Gardner 145.4-31-499-19-26.26; M. Anderson 123.5-20-509-18-28.27.

ARNOLD SCHOOL

Played 18: Won 5, Lost 3, Drawn 10

Master i/c: S. T. Godfrey

Batting—S. E. Davies 17–2–569–71–37.93; J. R. C. Lyon 16–2–468–101*–33.42; R. G. Halsall 5–0–111–55–22.20; K. I. Harrison 13–4–192–29*–21.33; *A. J. Cardwell 15–0–319–51–21.26; A. D. Lyon 13–2–233–52–21.18; J. F. Nicholson 14–2–136–25–11.33; S. M. Beckwith 13–0–139–33–10.69.

Bowling—A. J. Parker 98–16–247–14–17.64; M. A. Johnson 71.2–14–245–13–18.84; S. E. Davies 179–49–476–25–19.04; S. A. Heyes 144.2–32–451–20–22.55; J. C. Cassidy 92.1–35–276–11–25.09; A. J. Cardwell 159.3–39–523–17–30.76.

ASHVILLE COLLEGE

Played 18: Won 4, Lost 5, Drawn 9

Master i/c: J. M. Bromley

Cricket professional: P. Carrick

Batting—*J. C. Lister 18-3-685-136*-45.66; A. Perkins 17-0-444-74-26.11; S. J. Ashman 17-3-334-70-23.85; R. S. Holgate 16-6-227-61*-22.70; J. S. Crabtree 16-3-254-43-19.53; E. J. London 11-4-137-31-19.57; J. E. Green 11-2-115-48-12.77; N. M. Rogers 14-0-176-46-12.57; T. L. Holgate 17-2-161-27*-10.73.

Bowling—A. Perkins 248.3-49-699-48-14.56; J. C. Lister 199.3-43-661-40-16.52; E. J. London 115-19-501-15-33.40; A. J. D. Pickup 103-18-415-11-37.72.

BABLAKE SCHOOL

Played 22: Won 10, Lost 5, Drawn 7. Abandoned 2

Master i/c: B. J. Sutton

Batting—E. T. Milburn 19-5-582-97*-41.57; D. C. Percival 12-2-341-88-34.10; A. M. J. Kearns 16-3-289-83-22.23; *S. J. Pilbin 12-3-191-47-21.22; M. D. Foxton 15-2-271-51-20.84; J. Dillam 20-2-337-55-18.72; S. J. Tilt 9-3-105-22*-17.50; N. A. Matkin 22-6-274-46-17.12; A. G. Satchwell 16-3-147-26*-11.30.

Bowling—D. C. Percival 120.4–37–302–31–9.74; E. T. Milburn 195.1–53–506–39–12.97; A. M. J. Kearns 182.3–46–529–35–15.11; J. Bickerton 47–14–161–11–14.63; S. J. Pilbin 144.2–33–573–27–21.22.

BANCROFT'S SCHOOL

Played 16: Won 2, Lost 6, Drawn 8

Master i/c: J. G. Bromfield

Batting—*J. P. Thomas 17-3-472-79*-33.71; A. E. Phillips 7-2-124-33*-24.80; A. P. Parry 16-1-351-79*-23.40; K. R. Gold 14-2-202-41-16.83; V. D. Masani 14-2-184-26-15.33; R. W. Hubbard 15-2-172-30-13.23.

Bowling—P. A. Barnes 139–30–449–21–21.38; K. R. Gold 181–30–676–27–25.03; S. Kumar 117–22–385–13–29.61; P. J. Savage 80–17–295–10–29.50.

BANGOR GRAMMAR SCHOOL

Played 25: Won 18, Lost 2, Drawn 5. Abandoned 1

Master i/c: C. C. J. Harte

Batting—*M. P. Rea 25-5-977-120*-48.85; D. S. McCusker 21-8-503-52*-38.69; C. M. McCall 23-5-545-100*-30.27; P. H. J. McCall 22-1-559-107-26.61; I. J. Boal 19-2-375-58-22.05; R. B. Millar 16-2-271-45-19.35; S. McGookin 17-4-121-27-9.30.

Bowling—C. C. M. McIvor 72-19-182-21-8.66; N. Sinclair 197-73-383-39-9.82; D. S. McCusker 51.3-11-190-19-10.00; N. Johnston 193-56-469-46-10.19; C. Mawhinney 128-30-347-30-11.56; M. P. Rea 126.1-21-414-32-12.93; K. S. McNinch 12.5-23-268 14-19.14.

BARNARD CASTLE SCHOOL

Played 22: Won 9, Lost 5, Drawn 8

Master i/c: C. P. Johnson

Batting—A. Wilkie 16-4-452-122*-37.66; R. J. Lawrence 7-1-152-60-25.33; J. Ashman 10 1-468-63-24.63; R. L. Pettit 18-1-410-60-24.11; *S. G. Foster 21-1-451-91*-22.55; N. J. Foster 19-2-306-48-18.00; K. Bowyer-Sidwell 20-3-242-90*-14.23; P. A. Lake 18-1-225-39-13.23; M. E. Jobling 16-2-155-32-11.07.

Bowling—E. P. Seery 247.2–56–816–55–14.83; R. J. Irving 212.2–62–650–34–19.11; S. G. Foster 171.1–42–497–25–19.88; D. W. T. McGarr 210–56–652–32–20.37; N. J. Foster 15.1–23–336–10–33.60.

BEDFORD SCHOOL

Played 18: Won 4, Lost 3, Drawn 11. Abandoned 1

Master i/c: P. D. Briggs

Cricket professional: R. G. Caple

Batting—G. A. Buchanan 19–1–704–133*–39.11; *M. P. N. Waterfield 19–2–498–68–29.29; A. Waldock 18–0–520–67–28.88; S. J. Purdy 19–2–460–85*–27.05; T. S. G. Horrocks 19-4-346–71–23.06; N. J. Young 20–1–425–85*–22.36; P. F. Sowerby 13–5–147–40–18.37; J. F. Hopkisson 15–6–135–50*–15.00.

Bowling—D. A. Godfrey 73–10–229–14–16.35; J. E. Crooker 265–67–733–37–19.81; M. B. Abington 155–32–413–19–21.73; C. D. L. Hoppe 129–20–478–20–23.90; M. P. N. Waterfield 194–55–493–14–35.21.

177.1-30-527-25-21.08; R. T. Shouler 125-22-404-15-26.93.

BEDFORD MODERN SCHOOL

Played 20: Won 8, Lost 4, Drawn 8

Master i/c: A. D. Curtis

Batting-*T. M. Lord 19-2-1,071-136*-63.00; N. A. Stanley 19-2-703-106*-41.35; P. A. Garratt 17-1-531-72-33.18; A. J. Trott 11-3-181-42*-22.62; D. C. Garratt 18-4-185-35-13.21.

Bowling—P. A. Garratt 303-90-760-65-11.69; W. A. Hadfield 116.5-39-272-18-15.11; A. D. McCartney 213.4-46-651-36-18.08; D. C. Kemp 89.4-22-257-10-25.70; M. R. White 105-37-265-10-26.50.

BERKHAMSTED SCHOOL

Played 14: Won 2, Lost 4, Drawn 8, Abandoned 2

Master i/c: F. J. Davis

Cricket professional: M. Herring

Batting-*P. A. Brown 14-0-530-119-37.85; M. A. Hodges 14-0-430-119-30.71; A. J. Hunt 14-4-263-45-26.30; D. N. Jackson 13-1-172-55*-14.33; J. C. Lown 13-0-155-23-11.92 N. A. Allen 13-3-113-25*-11.30.

Bowling—S. P. Hunt 232-66-569-45-12.64; M. A. Hodges 84-19-241-12-20.08; P. A. Brown 100-33-215-10-21.50; A. J. Hunt 127-29-377-16-23.56.

BIRKENHEAD SCHOOL

Played 18: Won 9, Lost 2, Drawn 7

Master i/c: M. H. Bowyer

Batting-D. R. K. Windler 15-7-465-117*-58.12; W. J. Harrison 17-3-688-100*-49.14; *P. J. Sylvester 16-3-543-135*-41.76; A. R. Wilby 16-2-384-141*-27.42; N. V. Jeffreys 13-3-100-26-10.00.

Bowling-D. R. K. Windler 75.1-17-260-20-13.00; S. McGowan 237-74-660-45-14.66; N. V. Jeffreys 215.4-54-493-32-15.40; E. N. Kitchen 186-52-504-26-19.38.

BISHOP'S STORTFORD COLLEGE

Played 16: Won 9, Lost 2, Drawn 5. Abandoned 1

Master i/c: D. A. Hopper

Cricket professional: E. G. Witherden

Batting-D. E. O. Barber 14-8-261-56*-43.50; G. L. Chapman 14-3-332-73-30.18; P. D. K. Brooker 8-4-119-38*-29.75; S. E. Kok 14-0-385-53-27.50; M. C. Dodshon 14-2-302-63-25.16; A. M. Reynolds 5-1-100-41*-25.00; *R. J. Wilkinson 14-2-241-47*-20.08; L. S. P. Fishpool 13-1-196-52-16.33; S. J. Morris 13-2-137-43-12.45.

Bowling-K. A. Mills 78-26-155-10-15.50; S. E. Kok 128-28-362-23-15.73; L. S. P. Fishpool 159.4-63-419-26-16.11; A. M. Reynolds 175.4-55-455-25-18.20; G. L. Chapman 229-48-623-33-18.87.

BLOXHAM SCHOOL

Played 18: Won 5, Lost 5, Drawn 8

Master i/c: A. K. Bateman

Cricket professional: N. C. W. Furley

Batting-T. Wright 4-1-116-51-38.66; S. Janes 18-2-494-92-30.87; *E. J. MacLennan 17-1-465-66*-29.06; M. Collins 13-3-228-44-22.80; I. R. Davies 14-2-272-70-22.66; R. T. Shouler 17-2-323-54-21.53; P. J. Rice 18-0-308-54-17.11.

BLUNDELL'S SCHOOL

Played 17: Won 4, Lost 4, Drawn 9

Master i/c: E. D. Fursdon

Cricket professional: E. Steele

Batting-J. C. Hunt 17-3-729-108*-52.07; B. A. Barwell 14-4-319-68-31.90; P. A. Cavey 13-3-284-56-28.40; S. B. North 8-2-159-74*-26.50; A. J. Maunder 9-2-176-50*-25.14; *M. C. Coe 15-0-353-70-23.53; G. T. Vick 13-2-154-29-14.00; O. J. Barwell 11-1-120-33-12.00.

Bowling—R. K. Giles 126-41-320-26-12.30; R. W. N. Sockett 159-42-446-20-22.30; P. A. Cavey 89.5-25-298-13-22.92; M. C. Coe 179.5-43-577-24-24.04; P. Byrne 168-45-517-21-24.61.

BRADFIELD COLLEGE

Played 13: Won 7, Lost 0, Drawn 6. Abandoned 2

Master i/c: J. A. Claughton

Cricket professional: J. F. Harvey

Batting—R. M. Layton 13-4-509-81*-56.55; J. M. Tremellen 13-3-536-110*-53.60; A. R. Gent 7-3-185-54*-46.25; R. M. F. Cox 12-4-344-117*-43.00; *H. J. Norman 9-3-174-53-29.00.

Bowling-A. R. Gent 115.2-44-229-23-9.95; A. J. Goodsir 146-61-338-26-13.00; A. J. Straker 198.4-54-452-24-18.83; P. M. Last 123.3-21-380-16-23.75; R. M. Layton 106.5-28-313-11-28.45.

BRADFORD GRAMMAR SCHOOL

Played 21: Won 10, Lost 3, Drawn 8. Abandoned 4

Master i/c: A. G. Smith

Batting—A. A. D. Gillgrass 15-3-618-112*-51.50; C. E. Nichols 14-2-420-73-35.00; T. H. C. Balaam 10-6-125-24*-31.25; *J. B. Gray 20-3-476-87-28.00; R. M. Nichols 10-3-190-51*-27.14; P. A. Greenwood 20-2-482-74*-26.77; G. M. Bentley 15-5-242-38-24.20; A. M. Broadbent 14-3-264-49-24.00; S. M. White 12-2-221-40-22.10.

Bowling-I. J. McClay 214-50-641-39-16.43; A. M. Broadbent 243.3-63-804-39-20.61; T. H. C. Balaam 86-11-398-17-23.41; G. M. Bentley 94-15-334-14-23.85; R. G. Jamieson 121-26-435-18-24.16.

BRENTWOOD SCHOOL

Played 15: Won 2, Lost 5, Drawn 8

Master i/c: P. J. Whitcombe

Cricket professional: K. C. Preston

Batting—A. P. Connelly 15-4-414-60*-37.63; *P. H. Smaje 15-2-395-73*-30.38; A. J. Davis 7-1-119-39-19.83; S. Koka 13-0-220-50-16.92; R. S. Newman 13-2-165-35*-15.00; C. A. Jarvis 14-0-189-47-13.50; R. J. Thomson 15-0-200-70-13.33.

Bowling-R. L. Harper 77-13-213-14-15.21; A. J. Davis 178.4-40-627-32-19.59; R. S. Newman 237-64-576-25-23.04; Q. Ashby 125-25-363-12-30.25; P. I. Walker 135-25-517-13-39.76.

BRIGHTON COLLEGE

Played 20: Won 15, Lost 1, Drawn 4. Abandoned 1

Masters i/c: J. Spencer

Batting—*N. J. Lenham 21–2–1,534–207–80.73; M. J. Edmunds 11–5–254–75–42.33; D. G. Shaw 11–4–231–68–33.00; M. G. Simmonds 16–4–388–58–32.33; J. G. Appleton 15–1–234–61–16.71.

Bowling—N. J. Lenham 236-65-560-50-11.20; A. J. Herbert 76-17-216-16-13.50; G. D. Bradshaw 181.2-62-421-27-15.59; D. J. Panto 243.5-66-706-41-17.22; M. A. Bewick 125.4-27-386-21-18.38.

BRYANSTON SCHOOL

Played 13: Won 4, Lost 2, Drawn 7. Abandoned 1

Master i/c: M. C. Wagstaffe

Batting—G. Binns 13-1-407-115*-33.91; R. Fisher 9-4-124-35*-24.80; C. Beauchamp 13-1-284-89-23.66; J. Potts 12-1-260-70*-23.63; N. Davis 12-1-219-63-19.90; A. Davison 11-0-163-67-14.81; *C. Phillips 12-0-147-36-12.25.

Bowling—C. Phillips 170-48-519-24-21.62; C. Beauchamp 164-45-499-22-22.68; N. Goodenough-Bayly 145-39-416-17-24.47.

CANFORD SCHOOL

Played 14: Won 3, Lost 5, Drawn 6

Master i/c: H. A. Jarvis

Cricket professional: D. Shackleton

Batting—*P. G. Edwards 10-3-239-77-34.14; J. R. Doble 13-0-355-123-27.30; C. H. Forward 7-1-138-63-23.00; M. H. Leavett-Shenley 12-2-157-49*-15.70; A. R. J. Smith 14-0-176-49-12.57; J. M. Seward 12-0-110-20-9.16.

Bowling—P. G. Edwards 213.3-65-493-34-14.50; N. W. Knapman 235.1-81-517-33-15.66; R. A. Jones 115-31-319-18-17.72; J. A. Rivett 116-26-362-14-25.85.

CHARTERHOUSE

Played 17: Won 6, Lost 2, Drawn 9. Abandoned 1

Master i/c: M. F. D. Lloyd

Cricket professional: R. V. Lewis

Batting—A. J. Whitmore 11–6–136–28*–27.20; J. C. Golder 19–0–478–116–25.15; E. J. M. Baher 16–2–344–57–24.57; N. T. Kingston 17–1–387–47–24.18; N. K. P. Adomakoh 18–2–379–88–23.68; J. Griffiths 16–4–280–90–23.33; *M. Z. A. Dudhia 17–2–316–55–21.06; R. J. Potter 8–0–166–61–20.75; B. R. E. Thorne 9–0–180–54–20.00; C. E. G. Atkins 14–1–237–57*–18.23; J. S. Waters 11–3–123–42–15.37.

Bowling—A. J. Whitmore 133–33–393–27–14.55; N. T. Kingston 196–48–741–36–20.58; J. Griffiths 170.4–46–474–19–24.94; M. Z. A. Dudhia 133.4–27–409–16–25.56; E. J. M. Baher 133–34–415–13–31.92; C. A. Coe 170.1–23–551–16–34.43.

CHELTENHAM COLLEGE

Played 17: Won 4, Lost 5, Drawn 8. Abandoned 1

Master i/c: R. D. Knight

Cricket professional: G. A. Edrich

Batting—R. P. W. Thompson 17–2–511–108*–34.06; M. W. B. G. Dyer 10–6–122–26*–30.50; J. W. Tucker 10–2–211–87–26.37; C. E. Middle 16–1–359–76–23.93; C. M. Tollerfield 12–1–239–57–21.72; P. D. Richardson 15–1–272–47–19.42; J. T. Morgan 9–2–116–39*–16.57; P. R. Kenyon 13–1–195–67–16.25; D. G. Powell 8–1–105–34–15.00; P. H. Simonds 14–1–178–43–13.69

Bowling—M. W. B. G. Dyer 185.1–49–464–26–17.84; C. M. Tollerfield 195–36–698–34–20.52; R. P. W. Thompson 199–45–663–29–22.86; P. D. Richardson 122.2–27–520–19–27.36; J. G. G. Isaac 127–31–483–14–34.50.

CHIGWELL SCHOOL

Played 15: Won 0, Lost 3, Drawn 12

Master i/c: D. N. Morrison

Batting—J. R. Maskey 15–2–539–88*–41.46; A. J. Lee 12–0–175–58–14.58; T. E. Alexander 14–1–182–38–14.00; N. R. Notaney 15–4–142–34*–12.90; R. D. Mullett 11–1–103–25–10.30; A. J. Dellow 13–0–132–19–10.15.

Bowling—J. N. Haigh 58-12-160-14-11.42; J. R. Maskey 216.4-59-553-41-13.48; *M. Beaver 231.1-71-578-32-18.06; M. G. Carpenter 115.2-26-275-13-21.15.

CHRIST COLLEGE, BRECON

Played 15: Won 7, Lost 2, Drawn 6

Master i/c: C. W. Kleiser

Batting—J. W. Lewis 15-1-523-86-37.35; P. D. King 6-2-113-50*-28.25; K. Noble 13-1-313-100*-26.08; J. C. Llewelyn-Davies 11-2-193-36*-21.44; P. D. Thomas 13-1-194-42-16.16; D. A. Luxton 13-1-165-50-13.75; *N. P. Gibson 14-1-167-28-12.84.

Bowling—K. Noble 52.5-5-138-10-13.80; P. D. King 63-13-194-14-13.85; P. D. Thomas 196.2-58-528-36-14.66; J. W. Lewis 154.3-35-451-28-16.10; N. P. Gibson 105.2-17-421-18-23.38.

CHRIST'S HOSPITAL

Played 12: Won 3, Lost 6, Drawn 3

Master i/c: R. H. Sutcliffe

Batting—P. J. Goodwin 11–0–384–70–34.90; J. A. Pritchard 8–1–159–63*–22.71; C. J. Allen 9–1–170–64*–21.25; A. R. Lambourne 11–1–161–36–16.10; *S. G. M. Shepard 12–0–148–45–12.33; P. J. English 12–0–144–33–12.00; J. O. J. Bennett 11–0–110–45–10.00.

Bowling—R. D. Mayo 128-22-411-25-16.44; P. J. Goodwin 110-25-309-13-23.76.

CITY OF LONDON SCHOOL

Played 15: Won 5, Lost 3, Drawn 7

Master i/c: R. D. A. Woodberry

Cricket professional: L. M. Smith

Batting—D. M. Kutner 14–4–341–71–34.10; W. A. M. Solomon 12–0–340–62–28.33; O. J. Gibbs 9–0–241–56–26.77; H. B. Moffatt 14–2–271–51*–22.58; A. Bhasin 9–0–133–37–14.77; W. A. Saunders 11–2–108–25–12.00; M. P. Windibank 13–1–124–26–10.33.

Bowling—D. M. Kutner 94–6–344–25–13.56; H. B. Moffatt 158–37–456–31–14.70; N. Kapur 101.2–18–340–18–18.88; M. R. Knight 100.5–26–249–10–24.90.

CLIFTON COLLEGE

Played 18: Won 2, Lost 8, Drawn 8

Master i/c: D. C. Henderson

Cricket professional: F. J. Andrew

Batting—*S. C. Hazlitt 18-0-762-155-42.33; B. C. Lawry 18-1-540-74-31.76; P. J. Ray 16-7-216-34*-24.00; J. M. Braybrooke 19-0-321-49-16.89; M. J. Wortelhock 17-2-250-47*-16.66; A. J. A. Cole 16-2-198-41-14.14; P. A. Berry 16-1-206-49*-13.73; M. C. H. Jones 13-3-128-25-12.80; D. A. Watts 15-3-103-18-8.58.

Bowling—P. A. Berry 184–39–683–29–23.55; M. C. H. Jones 182–47–509–21–24.23; P. J. Ray 185–38–697–26–26.80; D. A. Watts 134–34–387–10–38.70; S. C. Hazlitt 138–20–563–10–56.30.

COLFE'S SCHOOL

Played 17: Won 5, Lost 4, Drawn 8

Masters i/c: M. Taylor and R. J. Evans

Batting—*A. Saleemi 16-4-520-100-43.33; C. Spencer 17-2-615-102-41.00; G. Rameaux 6-2-110-54*-27.50; J. Waddell 16-0-385-55-24.06; K. Boxall 9-1-130-46-16.25; G. Tomkins 15-2-199-60*-15.30; C. Chambers 14-2-175-49*-14.58.

Bowling—K. Boxall 200.2-60-524-40-13.10; J. Streeter 75-13-285-16-17.81; A. Saleemi 157.1-33-504-28-18.00; M. Davies 130.5-29-520-20-26.00.

COLSTON'S SCHOOL

Played 19: Won 4, Lost 5, Drawn 10. Abandoned 1

Master i/c: M. P. B. Tayler

Cricket professional: R. A. Sinfield

Batting—J. N. Stutt 19–4–903–122*–60.20; D. A. Blake 15–5–323–80–32.30; A. R. Davey 19–3–469–100*–29.31; *S. R. Brooks 18–2–437–103*–27.31; J. N. Gleeson 15–2–267–60–20.53; R. Lawrence 10–3–101–20–14.42; J. Louch 12–3–108–56–12.00.

Bowling—I. D. Stephens 56.5–13–177–12–14.75; J. Louch 81.4–8–387–24–16.12; R. Lawrence 123.4–8–599–27–22.18; C. E. Beardmore 89–19–307–13–23.61; S. R. Brooks 129–9–571–24–23.79; I. Coles 161.2–33–467–17–27.47.

CRANLEIGH SCHOOL

Played 10: Won 2, Lost 4, Drawn 4. Abandoned 2

Master i/c: C. J. Lush

Batting—S. W. Clements 10–2–214–68*–26.75; D. S. Williams 10–0–226–58–22.60; R. Radbourne 10–0–201–95–20.10; G. C. Clack 10–0–164–44–16.40; D. J. Gutteridge 10–0–122–31*–12.20.

Bowling—R. P. Seeckts 77.1-20-250-15-16.66; I. Z. Khan 80-26-283-16-17.68; M. W. Hyde 95.5-38-228-11-20.72; D. J. Gutteridge 80-22-236-10-23.60.

DAME ALLAN'S SCHOOL

Played 15: Won 7, Lost 6, Drawn 2. Abandoned 1

Master i/c: J. P. E. Procter

Batting—*P. G. Clark 12-2-384-91-38.40; J. M. Waller 13-3-227-69*-22.70; O. C. Roberts 11-2-193-71-21.44; H. S. Beeley 9-2-130-64-18.57; D. J. Parker 12-4-111-29*-13.87; D. Beale 11-1-113-24-11.30; J. Davidson 14-1-105-19*-8.07.

Bowling—T. Fitzpatrick 77.3-11-272-20-13.60; P. G. Clark 80.2-14-295-21-14.04; D. J. Parker 76.2-12-256-17-15.05; A. J. Silversides 83-22-207-11-18.81.

DAUNTSEY'S SCHOOL

Played 12: Won 2, Lost 1, Drawn 9. Abandoned 2

Master i/c: M. K. F. Johnson

Cricket professional: P. Hough

Batting—A. Brooks 11-2-355-104*-39.44; *M. Motamed 10-2-186-53-23.25; P. G. Clarke 11-0-211-54-19.18; J. R. Parker 10-1-154-30-17.11.

Bowling—P. J. Coffey 84–24–193–11–17.54; A. Brooks 118–24–412–23–17.91; I. M. Alexander 104–18–348–14–24.85.

DEAN CLOSE SCHOOL

Played 14: Won 4, Lost 4, Drawn 6. Abandoned 2

Master i/c: C. M. Kenyon

Cricket professional: D. Walker

Batting—*P. M. Vincent 13-2-551-108-50.09; H. M. Davies-Thomas 13-1-374-93-31.16; K. B. Hemshall 14-1-343-88-26.38; A. D. H. Carroll 14-2-311-88-25.91; R. N. Lindsay 8-2-146-66-24.33; P. D. Bayliss 11-0-134-41-12.18.

Bowling—R. N. Lindsay 108.3–37–253–20–12.65; P. M. Vincent 169.3–62–437–26–16.80; P. D. Bayliss 75.6–14–262–14–18.71; K. B. Hemshall 122–30–379–20–18.95.

DENSTONE COLLEGE

Played 14: Won 2, Lost 4, Drawn 8

Masters i/c: D. Dexter and A. James

Batting-H. Rhodes

Bowling—J. C. G. Moss 12–1–276–62–25.09; R. J. Robinson 14–0–273–55–19.50; T. M. Venner 11–0–176–59–16.00; S. R. C. Ellis 14–1–176–54–13.53; J. C. Davison 12–2–131–32*–13.10; D. J. North 14–0–171–51–12.21; D. P. Bickley 13–1–135–30–11.25; *A. T. Swales 13–3–104–22*–10.40.

A. T. Swales 137.5-42-408-22-18.54; D. P. Bickley 153-35-444-20-22.20; R. J. Robinson 123.4-34-416-14-29.71.

DOUAI SCHOOL

Played 15: Won 8, Lost 2, Drawn 5

Master i/c: J. Shaw

Batting—*R. J. Pullan 15-5-477-96*-47.70; C. J. Adolph 15-1-369-78-26.35; N. A. Peters 15-3-151-26*-12.58; C. J. Flanagan 15-0-152-21-10.13.

Bowling—R. J. Weston 266–43–668–58–11.51; G. F. Chesterman 95–17–288–20–14.40; R. C. Vitali 294–56–642–42–15.28.

DOVER COLLEGE

Played 17: Won 11, Lost 1, Drawn 5

Master i/c: R. Quinton-Jones

Batting—S. A. Bouvier 17-4-925-113-71.15; D. M. Carrion 11-4-165-51-23.57; A. C. Prideaux 12-2-230-58-23.00; J.-L. Le Tocq 15-4-238-54*-21.63; D. P. D. Bateman 11-3-163-35-20.37; J. L. Masters 15-4-220-45*-20.00.

Bowling—D. M. Carrion 203-59-451-61-7.39; S. A. Bouvier 80-11-265-15-17.66; S. R. Carrion 89-19-263-14-18.78; *A. Iliasu 170-31-517-27-19.14.

DOWNSIDE SCHOOL

Played 15: Won 2, Lost 9, Drawn 4

Master i/c: D. Baty

Batting—*T. L. Colston 15–0–329–70–21.93; T. P. Maher 9–1–161–51–20.12; D. H. Chisholm 14–1–238–57*–18.30; T. P. G. Stow 15–0–259–61–17.26; T. J. R. Nesbitt 13–3–142–26–14.20; J. P. Garton 15–1–145–28–10.35.

Bowling—C. D. C. Brown 137–36-451–23–19.60; T. J. R. Nesbitt 165–34–508–24–21.16; D. H. Chisholm 128–24–388–16–24.25; G. D. Brent 151.3–20–545–20–27.25.

DULWICH COLLEGE

Played 16: Won 8, Lost 3, Drawn 5

Master i/c: N. D. Cousins

Cricket professionals: W. A. Smith and A. R. Ranson

Batting—I. D. Waters 16–4–567–100*–47.25; J. S. H. Lennox 16–3–527–125–40.53; C. A. Pearce 16–2–421–75–30.07; *C. J. Webb 14–1–381–100*–29.30; J. A. R. Swinney 8–3–144–69*–28.80; V. Saxena 14–5–240–44–26.66; A. R. Bromley 7–1–100–61–16.66; J. R. Hearn 13–2–130–20*–11.81.

Bowling—J. R. Hearn 276.3–81–697–61–11.42; V. Saxena 123–31–432–17–25.41; S. Patel 150.2–34–427–15–28.46; C. J. Webb 82.3–17–302–10–30.20; I. C. Tredgett 141.3–32–443–13–34.07.

DURHAM SCHOOL

Played 16: Won 9, Lost 1, Drawn 6

Master i/c: G. Clayton

Cricket professional: M. Hirsch

Batting—*M. A. Roseberry 16-4-1,288-159-107.33; J. N. Whitfield 16-6-537-98*-53.70; S. C. Hussain 14-0-329-64-23.50; C. D. Ive 15-3-282-64-23.50; W. Dobson 11-2-193-49-21.44; A. R. Gibson 10-3-148-29-21.14; R. J. Stewart 11-2-139-58*-15.44; P. C. Rafn 11-0-163-45-14.81.

Bowling—M. A. Roseberry 170.1–53–488–41–11.90; R. A. Sowerby 178.3–43–572–29–19.72; R. J. Stewart 75.5–23–301–15–20.06; P. D. Marshall 193.1–51–642–26–24.69; C. D. Ive 67–13–274–11–24.90.

EASTBOURNE COLLEGE

Played 17: Won 4, Lost 6, Drawn 7

Master i/c: N. L. Wheeler

Cricket professional: A. E. James

Batting—S. H. C. Cosstick 17–0-606–96–35.64; F. J. Westlake 16–2-423–128*–30.21; J. J. R. A. Harley 12–2-237–55*–23.70; *G. C. Richards 17–1-358–89–22.37; S. J. N. Gray 17–2-335–87*–22.33; S. R. Davis 13–5–113–24*–14.12; D. S. E. Butler 15–4–148–34*–13.45.

Bowling—S. J. N. Gray 71.2–14–239–14–17.07; R. C. A. Clarke 153–32–649–32–20.28; L. M. Valmas 113–26–341–16–21.31; E. T. Atkinson 124–36–319–12–26.58.

THE EDINBURGH ACADEMY

Played 19: Won 6, Lost 3, Drawn 10

Master i/c: A. R. Dyer

Batting—J. D. Kudianavala 21–6–922–108*–61.46; B. J. Hay-Smith 20–4–385–54–24.06; D. J. Zuill 22–1–468–77–22.28; S. R. Gunn 14–4–173–51–17.30; R. A. Mawdsley 19–1–256–73–14.22; *J. McGlynn 20–1–253–43–13.31; G. M. Limb 13–3–117–27–11.70; D. I. Sutherland 14–1–144–29–11.07.

Bowling—J. D. Kudianavala 398.5–104–961–70–13.72; C. C. R. Robertson 239–61–621–34–18.26; I. S. Wilmshurst 226.5–46–628–32–19.62; S. R. Gunn 148.3–34–455–19–23.94.

ELIZABETH COLLEGE, GUERNSEY

Played 18: Won 4, Lost 4, Drawn 10. Abandoned 1

Master i/c: M. E. Kinder

Batting—T. Belton 16-1-366-54-24.40; N. Stratford 15-2-308-74-23.69; M. Bacon 13-5-175-35-21.87; C. Warlow 16-0-321-68-20.06; *N. Mechem 15-4-172-49*-15.63; J. Paul 17-4-179-36*-13.76.

Bowling—N. Mechem 112.1–20–330–20–16.50; P. Challenger 181–38–534–28–19.07; N. Stratford 106.2–38–278–14–19.85; A. Howe 63.5–8–238–10–23.80; N. Ravenscroft $\frac{100-15-379-14-27.07}{100-15-379-14-27.07}$.

ELLESMERE COLLEGE

Played 21: Won 3, Lost 7, Drawn 11

Master i/c: R. K. Sethi

Batting—C. W. Banner 17–5–275–65*–22.91; J. Holmes 21–1–455–81*–22.75; *R. T. Willinchip 19–1–392–63–21.77; D. M. P. Maisey 16–1–308–53–20.53; A. R. L. Stubbs 19–4–286–52*–19.06; D. V. Millward-Hopkins 13–4–148–23–16.44; N. Owen 17–1–231–45–14.43; P. D. Parton 16–2–179–34–12.78.

30wling—R. T. Millinchip 110.4–13–456–22–20.72; A. R. L. Stubbs 110.5–19–462–20–23.10; J. Holmes 81–19–259–11–23.54; S. J. W. Taylor 148–29–490–20–24.50; D. V. Millward-Hopkins 90.2–36–564–22–25.63; D. M. P. Maisey 128.4–21–410–10–41.00.

ELTHAM COLLEGE

Played 22: Won 7, Lost 3, Drawn 12

Masters i/c: B. M. Withecombe and P. C. McCartney

Batting—L. A. O'Leary 20–2–541–68*–30.05; I. N. Whalley 19–5–372–52–26.57; *B. A. Holcombe 19–1–423–75*–23.50; N. D. A. Baxter 19–4–351–59*–23.40; R. J. Hart 12–0–268–46–22.33; M. A. Barker 19–3–280–66*–17.50.

lowling—B. A. Holcombe 258.5-86-557-47-11.85; N. D. A. Baxter 127.2-19-295-20-14.75; N. Whalley 159-49-409-26-15.73; I. W. Marsh 174-33-565-26-21.73; J. P. Rafique 9-15-325-12-27.08; R. J. Hart 83-19-322-11-29.27.

EMANUEL SCHOOL

Played 15: Won 1, Lost 9, Drawn 5

Master i/c: P. M. Bermingham

latting—*1. M. Carrick 15–1–516–127*–36.85; T. Wignall 15–1–365–73–26.07; T. Harmer 4-3-255-39–23.18; S. Sharma 12–0–244–76–20.33; C. Noble 16–0–284–85–17.75; S. Siddiqui 3–0-165–32–12.69; H. Jones 14–2–115–20–9.58.

lowling—T. Harmer 150-47-359-21-17.09; I. M. Carrick 110-25-366-18-20.33; G. Sizeland 9-13-309-13-23.76; T. Wignall 157-30-532-22-24.18; C. Noble 101-14-496-17-29.17.

ENFIELD GRAMMAR SCHOOL

Played 19: Won 9, Lost 1, Drawn 9. Abandoned 1

Master i/c: J. J. Conroy

Latting—C. Berry 17-6-358-67-32.54; *R. Eustance 18-2-495-97*-30.93; M. Taylor, sen. 16-5-318-72*-28.90; P. Pemberton 19-1-447-94-24.83; N. Jackett 14-1-288-75-22.15; S. Horne 15-4-233-59-21.18; M. Taylor, jun. 13-1-234-70*-19.50.

Wiling—M. Taylor, sen. 245.4-75-559-62-9.01; N. Jackett 219-66-461-33-13.96; M. Hunnisett 111-29-295-17-17.35; R. Woolston 93.5-19-293-13-22.53.

EPSOM COLLEGE

Played 16: Won 2, Lost 6, Drawn 8

Master i/c: J. T. J. Houlson

Batting—G. R. J. Corcoran 16–0–544–100–34.00; P. A. Mitchell 16–4–334–74–27.83; A. C.R. Davidson 15–2–351–66*–27.00; *M. B. Finnigan 16–1–365–101*–24.33; J. S. Jessop 13–4–128–23–14.22; J. A. Baldwin 14–4–116–29–11.60; D. A. Fahmy 12–0–127–25–10.58.

Bowling—N. Beale 56.5-7-215-12-17.91; P. J. Julier 132.5-31-541-22-24.59; P. J. Williams 72-12-285-10-28.50; G. R. J. Corcoran 98.1-11-406-11-36.90; J. A. Baldwin 195-29-737-19-38.78; M. F. de Jongh 145-28-543-12-45.25.

ETON COLLEGE

Played 12: Won 2, Lost 1, Drawn 9. Abandoned 3

Master i/c: P. R. Thackeray

Cricket professional: V. H. D. Cannings

Batting—N. E. Evans-Lombe 11-4-312-104*-44.57; S. J. Willey 7-1-168-69-28.00; S. R. Gardiner 13-3-248-40-24.80; F. N. Bowman-Shaw 12-1-207-51-18.81; *R. V. Watson 14-0-216-45-15.42; C. G. M. Redmayne 13-1-184-30-15.33; J. M. I. Hardman 9-0-125-38-13.88.

Bowling—C. G. M. Redmayne 243–72–570–46–12.39; J. M. I. Hardman 145.5–34–415–27–15.37; S. E. Andreae 90–28–242–11–22.00; A. G. Butterwick 139.5–42–350–14–25.00.

EXETER SCHOOL

Played 14: Won 4, Lost 4, Drawn 6. Abandoned 1

Master i/c: G. T. Goodall

Batting—K. D. Lines 7-1-208-79-34.66; *I. D. Hayter 9-2-219-116*-31.28; M. P. D. Dixie 11-2-269-101*-29.88; B. J. A. Nealon 13-1-278-48*-23.16; F. O. S. MacDonald 13-2-220-56*-20.00; M. F. Gunter 11-0-200-64-18.18.

Bowling—K. D. Lines 54.2–15–182–15–12.13; B. J. A. Nealon 193.2–44–571–34–16.79; J. S. King 45.2–7–213–11–19.36; I. D. Hayter 108.2–14–474–18–26.33.

FELSTED SCHOOL

Played 18: Won 6, Lost 4, Drawn 8

Master i/c: M. Surridge

Cricket professional: G. O. Barker

Batting—*S. S. J. Miller 17–3–644–110–46.00; D. H. J. Griggs 16–4–497–94–41.41; P. A. Nicholls 16–0–516–76–32.25; T. I. Haynes 17–0–519–94–30.52; G. M. Martin 11–2–176–45–19.55; G. C. Wilkes 11–2–171–44–19.00; R. P. Haywood 9–3–101–31–16.83; O. P. G. Parker 12–5–116–27*–16.57.

Bowling—I. J. Woodward 77–27–213–19–11.21; R. P. Haywood 170–34–579–25–23.16; G. M. Lambert 193–49–568–22–25.81; D. H. J. Griggs 144–31–502–17–29.52; B. J. S. Cooper 112–26–369–12–30.75.

FETTES COLLEGE

Played 14: Won 5, Lost 3, Drawn 6

Master i/c: V. G. B. Cushing

Batting—C. Davidson 13–1–325–85–27.08; M. Bedby 5–0–105–25–21.00; W. Usher 14–2–250–83–20.83; J. Orchard 7–0–121–37–17.28; N. Cheape 11–0–181–67–16.45; I. Jack 13–0–201–80–15.46; *R. Barker 14–5–139–27–15.44; G. Lawrie 14–0–137–37–9.78; P. Revill 14–2–108–25–9.00.

Bowling—N. Cheape 122-31-296-31-9.54; M. Illingworth 163-43-330-25-13.20; T. Usher 68-11-207-15-13.80; R. Barker 193-37-559-32-17.46.

FOREST SCHOOL

Played 17: Won 8, Lost 0, Drawn 9

Master i/c: K. A. Parsley

Cricket professional: H. Faragher

Batting—N. Hussain 16-2-1,070-115*-76.42; R. J. Harnack 13-5-523-72-65.37; *M. D. I. Sheppard 17-4-655-115*-50.38; R. J. Butler 10-5-144-51*-28.80; A. J. Hamlin 11-2-192-34*-21.33.

Bowling—A. Sharma 107.2-27-338-26-13.00; N. Hussain 255.2-64-771-48-16.06; D. J. Richards 77-26-192-10-19.20; R. S. Giddy 67-8-278-11-25.27; M. D. I. Sheppard 174-16-253-10-25.30; P. J. Branson 123-32-376-14-26.85.

FRAMLINGHAM COLLEGE

Played 15: Won 11, Lost 1, Drawn 3

Master i/c: S. A. Westley

Cricket professional: C. Rutterford

Batting—R. D. O. Earl 11–3–460–81–57.50; A. C. Pulham 10–3–388–80–55.42; *N. C. J. Holmes 15–1–686–145–49.00; M. R. Brearey 12–3–408–106–45.33; C. E. Wright 5–0–106–37–17.66; R. F. Clement 9–1–102–24–12.75.

Bowling—R. D. O. Earl 275.5–103–682–50–13.64; C. E. Wright 77–15–197–14–14.07; N. C. J. Holmes 240.1–71–631–31–20.35.

GIGGLESWICK SCHOOL

Played 14: Won 1, Lost 8, Drawn 5

Master i/c: J. Mayall

Cricket professional: C. Mitchley

Batting—M. C. Claxton 10-2-178-49-22.25; M. J. Fitzpatrick 11-1-180-47-18.00; S. N. Youdale 14-0-228-65-16.28; M. T. Haward 14-1-205-75*-15.76; J. T. Hopkinson 13-1-181-39-15.08; D. S. Stoten 12-0-144-38-12.00; A. J. Fowler 14-1-129-46*-9.92.

Bowling—I. T. Robinson 117-22-315-27-11.66; A. J. Fowler 165-40-464-27-17.18; J. T. Hopkinson 107-15-402-23-17.47.

THE GLASGOW ACADEMY

Played 11: Won 5, Lost 3, Drawn 3

Master i/c: R. M. I. Williams

Cricket professional: P. A. Cooper

Batting—A. G. M. Baird, 11–1–176–64*–17.60; P. M. Bell 8–1–107–50*–15.28; G. B. A. Dyer 10–1–135–25–15.00; M. S. Robertson 10–0–102–29–10.20.

Bowling—R. J. Oliver 149.1–45–270–44–6.13; D. H. K. Robbins 139–45–231–31–7.45; *J. D. Hart 31.4–4-149–11–13.54.

GLENALMOND

Played 15: Won 2, Lost 3, Drawn 10. Abandoned 1

Master i/c: A. James

Cricket professional: W. J. Dennis

Batting—A. E. Kennedy 15–5–469–114*–46.90; G. M. Sommerville 16–1–530–115–35.33; E. L. McNeill 14–3–314–66–28.54; A. M. Stevenson 16–0–427–73–26.68; D. J. A. Galloway 8–4–100–34*–25.00; A. B. P. Sanderson 9–2–146–38–20.85; *G. J. Harley 12–2–179–59*–17.90; F. M. Hardie 16–1–183–27–12.20.

867

Bowling-L. M. Porter 159-26-573-27-21.22; A. M. Stevenson 134-43-356-16-22.25; C. N. Reynolds 88-18-300-12-25.00; A. E. Kennedy 164-43-526-21-25.04.

GRESHAM'S SCHOOL

Played 17: Won 4, Lost 4, Drawn 9

Master i/c: A. M. Ponder

Cricket professional: K. Taylor

Batting—N. Collie 12-2-328-85-32.80; *P. Lewis 14-0-370-72-26.42; J. Lewis 17-0-379-67-22.29; G. Webster 15-0-313-56-20.86; M. Buckingham 15-1-291-42-20.78.

Bowling-P. Lewis 200-41-513-37-13.86; G. Roper 122-24-416-23-18.08; J. Lewis 231-43-614-30-20.46; J. Purnell 90-7-380-18-21.11.

HABERDASHERS' ASKE'S SCHOOL

Played 17: Won 4, Lost 4, Drawn 9. Abandoned 2

Master i/c: D. I. Yeabsley

Batting-R. N. Harris 17-5-647-111-53.91; D. B. Griffiths 16-3-439-86*-33.76; R. Bate 17-0-500-93-29.41; A. J. Griffiths 15-2-345-62-26.53; D. W. Preest 8-4-101-24*-25.25; C. J. Davis 14-1-268-51-20.61; J. Burrows 12-1-165-49-15.00; T. Clark 10-0-143-65-14.30.

Bowling—C. J. Davis 234-57-636-35-18.17; R. C. Downes 234-56-728-29-25.10; C. R. Wood 126-24-457-17-26.88; A. J. Griffiths 144-29-468-11-42.54.

HAILEYBURY

Played 14: Won 7, Lost 1, Drawn 6

Master i/c: M. S. Seymour

Cricket professional: P. M. Ellis

Batting-N. R. Venning 15-3-670-116*-55.83; M. G. Smith 14-4-406-65-40.60; R. L. Croft 8-2-118-35-19.66; N. D. Matthews 8-0-156-94-19.50; R. J. Culling 9-0-156-27-17.33; J. T. Lumley 14-4-164-37*-16.40; *R. J. G. Madden 9-0-142-40-15.77.

Bowling-N. R. Venning 85-22-223-13-17.15; M. S. Hogue 210-51-605-34-17.79; J. T. Lumley 204-52-555-24-23.12; R. R. W. Bonallack 106-25-333-14-23.78; E. P. Okumu 141-35-359-15-23.93

HAMPTON SCHOOL

Played 17: Won 7, Lost 4, Drawn 6. Abandoned 2

Master i/c: G. R. Cocksworth

Batting—C. Hind 15-3-559-100*-46.58; A. R. Collins 16-1-443-107-29.53; D. M. R. Eastland 14-4-284-80*-28.40; G. P. Link 8-2-135-79-22.50; J. P. Shepherd 13-2-238-72*-21.63; S. J. Kale 9-0-166-52-18.44; S. J. Young 12-0-180-42-15.00; A. P. Hood 14-1-167-31-12.84.

Bowling-A. J. Best 143.1-47-303-22-13.77; C. Hind 106.1-32-255-17-15.00; O. Malik 87-28-206-13-15.84; J. P. Shepherd 196.4-58-563-31-18.16; S. J. Young 106.2-21-336-18-18.66.

HARROW SCHOOL

Played 15: Won 2, Lost 3, Drawn 10. Abandoned 1

Master i/c: W. Snowden

Cricket professional: P. Davis

Batting-G. E. G. Waud 11-3-227-56*-28.37; S. A. James 5-1-110-46*-27.50; J. J. Pethers 14-2-325-60-27.08; M. D. S. Raper 16-4-321-82-26.75; R. M. Wells 10-0-251-86-25.10; R. C. Wiltshire 16-0-355-76-22.18; *R. G. Robinson 14-2-188-67*-15.66; R. A. Pyman 12-2-108-34-10.80.

Rowling-J. J. Pethers 147-30-456-24-19.00; D. B. M. Fox 204-48-562-29-19.37; D. C. Manasseh 227-51-678-33-20.54; M. R. Middleton 141-32-496-24-20.66.

HEREFORD CATHEDRAL SCHOOL

Played 13: Won 4, Lost 6, Drawn 3. Abandoned 1

Master i/c: M. V. Howlett

Intling-P. J. Butler 12-3-454-102*-50.44; L. H. Shutler 12-1-398-56-36.18; C. St J. Gilbert 11-1-252-83-25.20; K. Clements 8-1-146-50-20.85; D. C. Boucher 9-1-158-51-19.75; N. Hales 11-0-129-61-11.72.

lowling-D. C. Boucher 128.2-30-374-28-13.35; *N. J. Startin 110-19-372-25-14.88; D. M. Owens 77.2-10-267-11-24.27.

HIGHGATE SCHOOL

Played 14: Won 4, Lost 5, Drawn 5

Master i/c: R. W. Halstead

Cricket professional: R. E. Jones

Batting-N. K. F. Banks 14-2-494-71*-41.16; *N. Rathbone 14-0-261-86-18.64; C. W. J. Wawn 14-0-191-37-13.64.

lowling—P. J. Haynes 175.2-62-376-34-11.05; A. Margai 148.2-35-338-29-11.65; M. G. Griffiths 129-28-394-18-21.88.

HIPPERHOLME GRAMMAR SCHOOL

Played 15: Won 2, Lost 11, Drawn 2

Master i/c: G. J. Liddington

latting-D. W. Smith 13-0-276-81-21.23; R. I. Meskimmon 12-1-189-77-17.18.

lowling-M. A. Baldwin 46.3-10-123-11-11.18; N. A. Westwood 50.1-17-122-10-12.20; W. Smith 40-9-153-10-15.30; W. S. Clarke 66-21-173-10-17.30; *A. Philburn 133.1-25-405-18-22.50.

HURSTPIERPOINT COLLEGE

Played 18: Won 6, Lost 4, Drawn 8. Abandoned 2

Master i/c: M. E. Allbrook

Cricket professional: D. J. Semmence

latting-M. P. Speight 18-3-777-146-51.80; G. J. M. McMillan 18-3-425-91-28.33; S. A. Kerr 9-3-170-61*-28.33; A. J. Inman 16-1-378-75-25.20; N. T. Banfield 8-2-136-86*-22.66; ¹J. R. C. Lamb 11-3-105-16-13.12; M. Cohen 17-0-155-39-9.11.

lowling—J. A. Rose 235.3-43-725-46-15.76; J. R. C. Lamb 243-67-625-31-20.16; A. J. hman 148-28-525-22-23.86.

IPSWICH SCHOOL

Played 15: Won 3, Lost 7, Drawn 5

Master i/c: P. M. Rees

Cricket professional: K. Winder

latting-*T. Rollett 15-2-531-104*-40.84; J. Bryden 15-1-382-113-27.28; S. Young B-1-285-57-23.75; A. Walker 5-0-113-49-22.60; J. Zagni 13-1-206-43*-17.16; P. Finch B-1-169-34*-14.08; A. Paul 12-0-119-33-9.91.

bowling-D. Patient 198.4-48-561-29-19.34; S. Alderson 193.5-49-654-30-21.80; J. Zagni 110.4-21-394-13-30.30.

KELLY COLLEGE

Played 17: Won 4, Lost 5, Drawn 8

Master i/c: T. Ryder

Batting—P. G. Shering 17–3–455–64–32.50; D. R. Williams 13–2–268–50–24.36; R. M. Summerell 15–1–341–58–24.35; *J. R. Parkhouse 16–2–202–63*–14.42; W. B. B. James 12–2–108–51*–10.80; C. M. A. Tranfield 16–1–160–27–10.66.

Bowling—S. G. Smith 188-43-513-34-15.08; J. R. Parkhouse 44-8-172-10-17.20; P. G. Shering 164.1-42-474-21-22.57; M. G. B. Kirwin 89.5-10-400-14-28.57.

KENT COLLEGE

Played 12: Won 6, Lost 0, Drawn 6

Master i/c: C. S. Day

Batting—*R. H. Hodgkiss 12–5–425–75–60.71; A. J. MacGregor 12–2–460–121*–46.00; J. G. Dee 10–4–219–50–36.50; J. T. Lightfoot 9–0–111–27–12.33.

Bowling—N. B. Popplewell 39.4-8-137-16-8.56; A. S. Jones 104.1-31-261-23-11.34; J. G. Dee 85.1-4-201-13-15.46; I. M. Sebire 37.0-7-185-10-18.50; R. H. Hodgkiss 80.5-12-232-11-21.09; P. C. Goodban 103.3-22-338-10-33.80.

KIMBOLTON SCHOOL

Played 17: Won 5, Lost 5, Drawn 7

Master i/c: T. J. Williams

Cricket professional: J. Hart

Batting—*R. A. Johnson 17–1–592–100*–37.18; A. W. Caswell 17–0–358–49–21.05; G. J. Kerr 17–0–350–56–20.58; P. D. Shorrick 14–5–173–47–19.22; Godden 12–0–190–45–15.83; Hall 17–2–188–46–12.53; Moffatt 13–3–120–53–12.00.

Bowling—A. W. Caswell 243.4-64-690-42-16.42; R. Johnson 168.7-46-457-26-17.57; Simpson 68.7-16-229-13-17.61; P. A. J. Brittain 152-31-377-16-23.56.

KING EDWARD'S SCHOOL, BIRMINGHAM

Played 21: Won 13, Lost 3, Drawn 5, Abandoned 1

Master i/c: D. H. Benson

Cricket professional: P. Knowles

Batting—N. Martin 16-5-658-123*-59.81; *N. A. Willetts 17-0-942-128-55.41; J. R. Bishop 21-2-462-66-24.31; S. D. Heath 15-2-288-57-22.15; A. C. D. Crossley 9-3-126-57-21.00; J. S. Crawford 20-2-356-60*-19.77; R. C. Tyler 19-4-260-32-17.33; E. J. Tann 13-3-128-26*-12.80.

Bowling—N. A. Willetts 153.3-49-378-31-12.19; S. D. Heath 258.1-80-727-57-12.75; A. N. Wolffe 178.4-31-560-31-18.06; I. Crawford 165.1-31-473-22-21.50; E. Shedd 98-21-312-12-26.00.

KING EDWARD VI SCHOOL, SOUTHAMPTON

Played 24: Won 11, Lost 6, Drawn 7, Abandoned 4

Master i/c: M. H. May

Batting—*M. O'Connor 21–4–1,188–105*–69.88; J. Sealy 15–2–429–64–33.00; G. Coltrell 23–8–464–76*–30.93; R. Hambly 17–4–291–47*–22.38; J. Shepherd 8–3–101–34–20.20; C. Surry 12–2–198–65–19.80; G. Irish 17–3–252–54–18.00; M. Hickman 12–4–142–44*–17.75.

Bowling—P. Arnold 41–8–164–12–13.66; P. May 105.3–11–482–34–14.17; M. O'Connor 125–20–418–29–14.41; J. Shepherd 86–19–292–19–15.36; M. Hickman 178.2–48–560–33–16.96; J. Donaldson 174.3–41–558–29–19.24.

KING EDWARD VI COLLEGE, STOURBRIDGE

Played 17: Won 5, Lost 1, Drawn 11. Abandoned 1

Master i/c: M. L. Ryan

Batting—R. N. Tolley 16–2–587–124–41.92; M. W. Fisher 14–2–497–109–41.41; N. A. Barrett 14–1389–79–29.92; *M. J. Price 13–3–268–67*–26.80; P. J. Gwilliam 8–3–108–38–21.60; D. J. Bullock 11–5–114–20*–19.00; J. J. Syed 8–1–113–35–16.14; A. A. Cutts 9–2–105–31–15.00.

bowling—M. W. Fisher 74.5–20–171–15–11.40; N. A. Barrett 200.3–49–612–45–13.60; A. A. (autts 89–31–211–12–17.58; P. J. Gwilliam 61.2–17–224–12–18.66; D. J. Bullock 11.2–26–335–11–30.45; M. J. Price 116.2–26–363–11–33.00.

KING EDWARD VII SCHOOL, LYTHAM

Played 20: Won 3, Lost 8, Drawn 9

Master i/c: A. Jones

Butting—M. Hawthornthwaite 20–1–749–113–39.42; M. Mullarkey 17–4–303–79–23.30; D. Chrispin 20–3–344–88–20.23; *R. Shannon 20–2–340–72–18.88; J. Owen 19–1–277–67–15.38; M. Cope 14–3–162–46*–14.72; G. Cope 12–2–108–26–10.80.

Jowling—I. Ball 167–42–429–23–18.65; C. Lodge 147.3–30–560–25–22.40; M. Downing ||1.4–28–360–14–25.71; M. Mullarkey 124–24–457–17–26.88; M. Hawthornthwaite ||53–23–534–18–29.66.

KING HENRY VIII SCHOOL, COVENTRY

Played 16: Won 5, Lost 5, Drawn 6. Abandoned 2

Master i/c: G. P. C. Courtois

Mutting—*P. M. Smith 16–3–641–79*–49.30; G. J. Morgan 16–1–350–75–23.33; C. A. Wynn-Evans 14–3–224–50–20.36; A. R. Nicholson 14–2–204–42*–17.00; C. P. D. Reynolds 15–0–184–53–12.26; A. McQuater 13–2–125–46–11.36.

bwling—I. D. Harris 126–22–487–36–13.52; P. D. Robinson 106–15–446–22–20.27; A. L. Bower 67–10–252–11–22.90; D. C. Bridges 155.3–31–582–24–24.25.

KING WILLIAM'S COLLEGE, ISLE OF MAN

Played 17: Won 5, Lost 6, Drawn 6

Master i/c: T. M. Manning

Cricket professional: D. Mark

Mutring—*S. C. Watson 18-3-700-125-46.66; R. F. M. Cook 18-1-355-56-20.88; G. R. Murray 16-2-257-51-18.35; M. J. Alston 13-2-189-36-17.18; A. J. Corlett 5-2-203-30-15.61; S. R. Dane 14-3-160-68*-14.54; P. B. Clucas 12-3-117-43*-13.00; J. C. F. Cringle 13-2-120-59-10.90.

bwling—A. J. Corlett 225.1–45–718–49–14.65; S. R. Dane 108–20–378–19–19.89; R. J. S. lalavera 134.4–34–388–17–22.82; D. L. Conroy 88.2–17–388–11–35.27.

KING'S COLLEGE, TAUNTON

Played 15: Won 8, Lost 1, Drawn 6

Master i/c: P. A. Dossett

Cricket professional: R. E. Marshall

hatting—J. T. S. Chippendale 16–6–592–85*–59.20; R. G. Twose 16–4–697–158*–58.08; A. R. Drayton 8–2–129–50*–21.50; H. D. W. Wordsworth 13–3–196–74–19.60; *G. R. N. Drayton 14–3–211–44–19.18; R. S. Hereward 10–0–150–41–15.00; S. J. Kaye 15–0–122–27–8.13.

871

Bowling—R. G. Twose 167.3–52–378–31–12.19; G. K. Barber 232.3–43–581–44–13.20; H. D. W. Wordsworth 257.3–62–596–36–16.55; G. R. N. Drayton 85.4–23–220–13–16.92.

KING'S COLLEGE SCHOOL, WIMBLEDON

Played 20: Won 8, Lost 4, Tied 1, Drawn 7. Abandoned 1

Master i/c: A. G. P. Lang

Cricket professional: R. A. Dare

Batting—R. M. Hussey 8-3-170-82*-34.00; J. P. Feltham 17-0-560-114-32.94; P. J. Graham 18-1-525-108*-30.88; J. M. Moritz 17-1-396-50-24.75; N. P. Barnett 7-1-140-41-23.33; M. Woolnough 15-4-237-34-21.54; J. C. Goddard 15-5-209-40-20.90; *P. S. Noble 15-5-181-36-18.10; P. R. Endean 17-1-227-38-14.18; G. C. Slimmon 13-2-120-35-10.90.

Bowling—M. Woolnough 182-47-552-31-17.80; P. J. Graham 108-32-253-13-19.46; J. C. Goddard 108.3-21-339-17-19.94; P. S. Noble 252-62-660-31-21.29; D. R. G. Hains 67.5-15-247-10-24.70; J. P. Feltham 197.4-55-561-22-25.50.

KING'S SCHOOL, BRUTON

Played 15: Won 6, Lost 2, Drawn 7

Master i/c: A. S. Linney

Batting—*I. C. D. Stuart 14–1–495–71–38.07; R. J. Gough 11–6–185–50*–37.00; R. C. Gainher 13–2–392–82–35.63; J. Cassell 14–2–423–100*–35.25; D. J. M. Bruce 11–3–226-55-28.25; P. D. B. Lee 9–3–145–51*–24.16.

Bowling—M. A. Walton 94-22-235-20-11.75; I. C. D. Stuart 214.5-45-538-45-11.95; R. J. Gough 62.2-20-141-10-14.10; C. G. Cowell 99-24-341-20-17.05; R. C. Gainher 88.5-20-281-10-28.10.

THE KING'S SCHOOL, CANTERBURY

Played 16: Won 8, Lost 0, Drawn 8

Master i/c: A. W. Dver

Cricket professional: D. V. P. Wright

Batting—J. E. S. Weston 15-4-440-66*-40.00; M. B. Ryeland 15-5-299-94*-29.90; J. H. A. Albin 16-0-296-79-18.50; S. J. S. Lark 16-0-275-64-17.81; J. H. Tattersfield 15-8-118-36*-16.85; S. C. Hodgson 15-0-230-66-15.33; *R. W. G. Oliver 16-0-243-56-15.18.

Bowling—J. P. Taylor 143-42-355-28-12.67; A. J. Puleston 181.5-60-342-26-13.15; S. J. S. Lark 194.5-74-482-29-16.62; M. B. Ryeland 90.4-22-233-12-19.41; J. H. Tattersfield 166-57-421-20-21.05; N. C. Bradley 95-21-283-11-25.72.

THE KING'S SCHOOL, CHESTER

Played 16: Won 3, Lost 5, Drawn 8. Abandoned 3

Master i/c: A. R. Neeves

Batting—T. R. M. Jones 12–1–287–108*–26.09; A. Martin 12–2–222–71–22.20; *A. W. S. Jones 13–3–213–50–21.30; A. Lewis 10–0–209–45–20.90; T. Blackmore 14–0–256–85–18.28; N. Major 14–0–197–37–14.07; P. McLoughlin 12–1–122–42–11.09; G. Park 13–1–133–34–11.08.

Bowling—S. Tonks 174-50-577-28-20.60; G. Powell 154-34-545-26-20.96; P. McLoughlin 71-9-277-12-23.08; G. Park 119.5-18-440-17-25.88.

THE KING'S SCHOOL, ELY

Played 17: Won 10, Lost 3, Drawn 4

Master i/c: R. M. Parsons

Bating—M. Chamberlain 17–1–792–122–49.50; A. Ditta 14–5–334–102*–37.11; M. E. V. Gillop 15–4–304–68*–27.63; K. Worrall 16–1–289–56–19.26; *A. P. Williams 16–1–254–63–16.93; R. Hall 13–3–134–36–13.40.

Bowling—J. R. G. Bouverie 159-51-328-41-8.00; A. Ditta 159-34-490-33-14.84; M. E. V. Gillop 149-38-387-25-15.48.

THE KING'S SCHOOL, MACCLESFIELD

Played 23: Won 7, Lost 7, Drawn 9. Abandoned 3

Master i/c: D. M. Harbord

Bating—T. P. Melvin 18–5–391–60*–30.07; C. J. Belfield 23–2–603–88–28.71; *D. B. Rusham 22–3–537–71*–28.26; R. G. Diggle 22–3–336–73*–17.68; R. P. Leigh 17-7–147–37–14.70; J. G. R. Burdekin 21–2–271–31–14.26; J. F. D. Harcombe 17–0–179–32–10.52; D. G. Walker 17–1–120–24*–7.50.

Bwling—J. G. R. Burdekin 103–24–268–19–14.10; D. G. Walker 236–72–710–50–14.20; R. G. Dggle 152–36–445–29–15.34; J. C. Sandford 213–45–705–43–16.39; C. J. Belfield 51.6–203–12–16.91; T. P. Melvin 76–18–287–10–28.70.

THE KING'S SCHOOL, ROCHESTER

Master i/c: J. S. Irvine

Buting—M. P. Mernagh 13–1–441–107*–36.75; A. S. Brown 12–0–337–85–28.08; D. C. Walsh 14-5–214–52–23.77; S. R. C. Smith 14–4–235–59*–23.50; P. J. Hargraves 10–4–113–33–18.83; R. K. Mellor 14–1–230–82–17.69; J. A. Fife 10–1–135–42–15.00; P. T. W. Ives 14–158–41–12.15.

Bwling—M. P. Mernagh 210.2-42-671-41-16.36; S. R. C. Smith 78-6-297-14-21.21; F. E. E. Oediran 153-35-493-23-21.43; A. S. Brown 75-11-279-12-23.25.

THE KING'S SCHOOL, WORCESTER

Played 18: Won 4, Lost 3, Drawn 11

Master i/c: D. P. Iddon

Buting—S. Jevons 5-1-106-45-26.50; M. Jones 15-0-395-81-26.33; N. Marsh 14-335-100*-23.92; S. Evans 15-1-330-73*-23.57; J. Mackie 17-0-399-55-23.47; L. Field 13-1-268-48-22.33; J. Hodgson 13-6-131-29-18.71; *M. Morgan 16-4-218-42*-18.16; D. Cmeron-Mitchell 15-4-164-38-14.90.

Bivling—J. Hodgson 113–36–312–18–17.33; S. Evans 62–12–255–14–18.21; P. Keegan 13.1–41–398–19–20.94; A. Suckling 157.1–37–521–22–23.68; D. Cameron-Mitchell 14.4–27–496–20–24.80.

KINGSTON GRAMMAR SCHOOL

Played 19: Won 3, Lost 11, Drawn 5

Master i/c: R. J. Sturgeon

Buting—*S. H. Clayson 12–1–519–106–47.18; S. C. R. Cox 12–0–438–108–36.50; I. Robinson 162–438–85–31.28; R. A. White 13–3–166–53*–16.60; D. G. S. Gordon 18–2–260–51*–16.25; P. A. Montague 16–1–236–52–15.73; S. P. S. Dane 14–3–165–28*–15.00; S. J. Evans 17–0–159–38–9.35; D. J. Railton 17–2–124–20–8.26.

Bowling—S. H. Clayson 111.4-21-401-19-21.10; R. A. White 162-42-481-21-22.90; S. P. S. Dane 222.3-47-806-35-23.02; S. J. Evans 148.1-23-644-16-40.25.

KINGSWOOD SCHOOL, BATH

Played 12: Won 2, Lost 4, Drawn 6

Master i/c: G. Mobley

Batting—W. R. V. Edwards 11–3–184–57*–23.00; *R. J. Lloyd-Williams 12–1–223–45*–20.27; A. D. Ducker 12–1–219–44–19.90; W. P. B. Wright 11–1–148–50*–14.80; R. M. H. Walker 7–0–101–32–14.42; C. E. Rogers 11–0–120–34–10.90; C. N. J. Law 12–0–122–42–10.16

Bowling-N. D. Gunn 94-16-285-22-12.95; W. R. V. Edwards 142-23-471-29-16.24

LANCING COLLEGE

Played 17: Won 8, Lost 3, Drawn 6. Abandoned 1

Master i/c: E. A. Evans-Jones

Cricket professional: D. V. Smith

Batting—J. D. Robinson 17–3–643–130*–45.92; C. S. Mays 17–0–737–99–43.35; R. M. Osborn 16–1–412–68*–27.46; M. D. Erskine 10–4–163–47–27.16; J. J. S. Withyman 11–3–210–81–26.25; *I. C. Martin 16–3–341–83*–26.23; A. P. Miller 10–2–128–33–16.00.

Bowling—J. N. P. Davies 178.5–65–414–47–8.80; C. S. Mays 227.4–66–498–38–13.10; J. J. S. Withyman 83–18–237–15–15.80; J. D. Robinson 89–27–279–17–16.41; G. St J. F. Bell 93.3–18–300–16–18.75.

LEEDS GRAMMAR SCHOOL

Played 18: Won 7, Lost 2, Drawn 9

Master i/c: I. R. Briars

Batting—*A. F. Tyler 15–1–799–103–57.07; J. R. Clark 9–3–217–56–36.16; A. Setia 18–3–489–105–32.60; S. W. Joyce 16–0–439–105–27.43; C. M. Siddle 12–3–206–55*–22.88; R. S. J. Tovey 10–4–119–41*–19.83; D. A. Smith 15–3–226–58*–18.83; S. R. Bowman 15–0–146–34–9.73.

Bowling—A. Setia 98.4–13–347–23–15.08; G. R. Tyler 139.1–18–581–35–16.60; D. A. Smith 128.2–28–461–22–20.95; R. K. F. Stevens 124.5–32–473–21–22.52; R. S. J. Tovey 168.5–41–609–23–26.47.

LEIGHTON PARK SCHOOL

Played 16: Won 4, Lost 7, Drawn 5

Master i/c: G. C. Shaw

Batting—E. Salisbury 12–3–402–132–44.66; D. Doraisamy 15–1–346–59–24.71; J. Wood 12–0–290–41–24.16; J. Berridge 7–1–116–44–19.33; G. Stephenson 7–0–108–39–15.42; J. Evans 13–1–147–35–12.25.

Bowling—G. Stephenson 38-9-110-11-10.00; J. Wood 116-31-269-23-11.69; *C. Pye-Smith 96-8-456-24-19.00; D. Doraisamy 99-19-327-15-21.80.

THE LEYS SCHOOL

Played 19: Won 4, Lost 7, Drawn 8

Master i/c: P. R. Chamberlain

Cricket professional: S. Sutcliffe

Batting—*J. D. R. Benson 18-2-977-168*-61.06; R. E. Symes 4-1-104-52-34.66; S. D. Bailey 19-3-416-94-26.00; S. P. Barker 16-1-260-71-17.33; D. R. K. Nesbitt 18-4-212-39-15.14; M. R. K. Nesbitt 18-2-233-56-14.56; T. C. Bent 13-3-137-49*-13.70.

Bowling—A. D. Smart 204–33–764–32–23.87; J. D. R. Benson 156–29–462–18–25.66; M. R. K. Nesbitt 82–13–274–10–27.40; S. P. Barker 90–13–316–10–31.60; J. A. S. Webb 170–27–599–18–33.27.

LIVERPOOL COLLEGE

Played 14: Won 8, Lost 0, Drawn 6

Master i/c: J. R. H. Robertson

Cricket professional: W. J. Clutterbuck

Batting—*P. D. Williams 13-4-629-107*-69.88; S. R. Downes 11-4-348-96*-49.71; J. A. Brown 5-2-113-47*-37.66; A. N. Hughes 13-2-393-77*-35.72; D. N. Young 9-2-123-27-17.57; R. J. Fletcher 8-1-105-56*-15.00.

Bowling—J. J. Ashcroft 25.5-6-151-10-15.10; A. P. Hanson 181.1-47-578-37-15.62; J. A. Brown 106.3-14-391-25-15.64; P. D. Williams 158.1-56-437-26-16.80.

LLANDOVERY COLLEGE

Played 13: Won 7, Lost 3, Drawn 3. Abandoned 1

Master i/c: T. G. Marks

Batting—S. Meredith 12-2-627-107*-62.70; T. A. S. Williams 13-3-279-55*-27.90; N. J. E. Evans 10-0-180-46-18.00; B. D. Evans 12-0-210-49-17.50; C. R. Hughes 11-2-151-45*-16.77.

Bowling-*G. E. Owen 166-63-313-49-6.38; J. Mosely 101-32-262-18-14.55.

LORD WANDSWORTH COLLEGE

Played 10: Won 1, Lost 3, Drawn 6

Master i/c: A. G. Whibley

Batting—A. M. Blows 10–3–379–101*–54.14; A. J. Phillips 7–2–141–52*–28.20; S. I. R. Alcoran 6–1–138–35–27.60.

Bowling-G. T. Mellon 67-17-228-13-17.53; A. M. Blows 83.5-23-232-11-21.09.

LORD WILLIAMS'S SCHOOL, THAME

Played 16: Won 6, Lost 5, Drawn 5

Master i/c: A. M. Brannan

Batting—A. Deans 14–3–513–76–46.63; G. Westlake 15–1–449–74*–32.07; J. Pawsey 10–2–211–50*–26.37; P. Jobson 14–2–202–56–16.83; R. Carr 15–0–234–50–15.60; P. Deasy 11–3–118–55*–14.75; P. Yeomans 14–2–130–31*–10.83.

Bowling—S. Fairn 45-10-106-11-9.63; R. Carr 70-13-182-13-14.00; J. Pawsey 92-21-273-15-18.20; P. Jobson 143.2-33-380-20-19.00.

MAGDALEN COLLEGE SCHOOL

Played 18: Won 5, Lost 6, Drawn 6, Tied 1

Master i/c: P. J. Winter

Batting—D. G. C. Ligertwood 5–1–104–56*–26.00; T. M. Morgan-Wynne 16–2–355–56–25.35; M. E. McKinlay 18–1–420–80–24.70; *J. Brett 18–2–335–111*–20.93; J. F. Atkins 18–1–339–60*–19.94; M. J. D. White 17–0–283–47–16.64; G. S. Adams 11–2–128–37–14.22.

Bowling—G. S. Adams 211.3–66–608–43–14.13; A. K. O. O. Lawrence 94.5–22–314–16–19.62; T. E. Ivings 207.1–39–706–24–29.41.

MALVERN COLLEGE

Played 18: Won 7, Lost 0, Drawn 11. Abandoned 1

Master i/c: A. J. Murtagh

Cricket professionals: R. W. Tolchard and G. D. Morton

Batting—*N. R. C. MacLaurin 18-1-724-152*-42.58; A. O. Campbell-Ferguson 5-1-163-85-40.75; E. H. Gilbert 18-1-505-108*-29.70; S. F. Harris 12-3-234-58-26.00; S. B. L. Dowson 13-3-257-65-25.70; J. R. B. Read 17-0-435-77-25.58; C. D. E. Mason 16-4-250-38*-20.83; S. J. E. Hemsworth 15-4-210-44*-19.09; J. M. Davey 12-4-132-42-16.50.

Bowling—S. F. Harris 172-39-539-26-20.73; J. M. Davey 329.2-78-967-40-24.17; B. A. W. Bellamy 148-30-527-19-27.73; S. J. E. Hemsworth 195-51-607-21-28.90.

MANCHESTER GRAMMAR SCHOOL

Played 20: Won 8, Lost 1, Drawn 11

Master i/c: D. Moss

Batting—*M. A. Atherton 19–6–1,013–110–77.92; M. A. Crawley 19–2–587–83–34.52; G. Yates 15–5–324–60*–32.40; M. A. Hope 16–4–320–75*–26.66; M. A. McGrath 17–0–201–48–11.82.

Bowling—M. A. Atherton 347.2–123–793–61–13.00; M. A. Crawley 102.4–30–281–17–16.52; I. D. Botterill 177–44–456–24–19.00; G. Yates 330.2–123–781–36–21.69; E. J. Bryant 114–38–303–11–27.54.

MARLBOROUGH COLLEGE

Played 17: Won 6, Lost 3, Drawn 8

Master i/c: P. J. Lough

Cricket professional: J. M. Rice

Batting—J. E. J. Morris 19–0–729–103–38.36; M. W. A. Freyer 14–3–391–81*–35.54; N. E. Sykes 19–1–593–89–32.94; P. R. A. Shone 16–0–467–114–29.18; *R. T. Thicknesse 13–2–288–67*–26.18; C. A. Hicks 19–5–266–48*–19.00; N. J. Fallowfield 12–2–148–40*–14.80; J. C. Makin 11–1–107–44*–10.70.

Bowling—J. C. Makin 269.2-65-757-51-14.84; R. T. Thicknesse 220.3-70-627-33-19.00; R. N. A. Graham 85-28-213-10-21.30; C. E. T. Lewis 210.3-62-487-21-23.19; N. Bryant 92.3-21-326-10-32.60.

MERCHANT TAYLORS' SCHOOL, CROSBY

Played 20: Won 2, Lost 12, Drawn 6

Master i/c: D. A. Smith

Batting—A. Walmsley 16-1-309-40*-20.60; S. A. Jones 18-0-361-75-20.05; *M. J. Cooke 17-0-304-74-17.88; R. C. Travers 16-2-169-42*-12.07; W. J. Humphray 16-0-185-64-11.56; A. G. Forshaw 18-2-177-37-11.06; D. G. Jones 14-1-135-35*-10.38.

Bowling—P. J. Weston 59-7-218-15-14.53; D. G. Jones 100-17-341-12-28.41; T. J. Judge 162.2-42-594-20-29.70; S. R. Edgington 193.2-46-635-21-30.23.

MERCHANT TAYLORS' SCHOOL, NORTHWOOD

Played 16: Won 11, Lost 1, Drawn 4. Abandoned 1

Master i/c: W. M. B. Ritchie

Batting—G. Cornelius 16-4-506-71-42.16; S. R. C. Mee 15-2-416-70-32.00; J. H. Armstrong 14-1-382-96-29.38; J. D. Northcott 13-3-285-54-28.50; M. A. St. C. Stewart 14-2-322-132-26.83; H. L. Thompson 10-2-128-38*-16.00.

Bowling—*A. J. Cornish 267.4–91–672–38–17.68; D. W. R. Wiles 191–50–546–30–18.20; G Cornelius 77–16–260–13–20.00; K. Doshi 146.3–52–325–15–21.66; P. C. Perrotta 84.3–23–266–11–24.18.

MERCHISTON CASTLE SCHOOL

Played 13: Won 4, Lost 5, Drawn 4

Master i/c: M. C. L. Gill

Cricket professional: P. Wilson

Batting—A. G. Young 14–2–507–79*–42.25; A. J. S. Greene 12–2–185–39–18.50; T. G. Donald 14–0–234–67–16.71; M. A. Bent 12–5–113–35–16.14; J. A. Theissen 11–2–117–25–13.00; C. M. L. Cowan 15–0–189–50–12.60; M. E. R. Paton 13–2–136–57*–12.36; D. J. Snow 14–1–123–24–9.46.

Bowling—B. D. Cameron 37-6-109-14-7.78; T. G. Donald 111.1-27-394-21-18.76; J. P. Winpenny 110.3-22-425-20-21.25; J. A. Theissen 130.3-24-392-15-26.13; D. F. W. Burn 155-34-502-19-26.42.

MILLFIELD SCHOOL

Played 18: Won 7, Lost 0, Drawn 11

Master i/c: F. N. Fenner

Cricket professional: G. Wilson

Batting—*P. A. C. Bail 16-2-921-156*-65.78; R. J. Turner 9-3-295-117*-49.16; D. J. Nirmalalingam 10-1-389-110*-43.22; A. C. H. Seymour 17-2-593-101*-39.53; J. C. M. Atkinson 17-0-451-133-26.52; P. J. Stephenson 13-8-129-34*-25.80; R. W. Hill 17-2-355-96-23.66.

Bowling—P. J. Stephenson 158–49–391–24–16.29; M. T. Parkinson 207–50–569–31–18.35; P. A. C. Bail 133–32–383–20–19.15; J. C. M. Atkinson 154–34–479–18–26.61; J. A. Strachan 102–24–309–11–28.09; B. J. M. Clube 164–54–399–11–36.27.

MILL HILL SCHOOL

Played 20: Won 5, Lost 6, Drawn 9

Master i/c: C. Dean

Cricket professional: R. E. Hayward

Batting—C. E. Dawson 19-2-586-89-34.47; *R. S. W. Roberts 20-2-587-87-32.61; J. M. Cicale 15-3-282-100*-23.50; S. R. Premadasa 15-2-278-63-21.38; J. A. Robin 13-2-233-68*-21.18; P. B. Mensah 15-1-251-40*-17.92; M. J. Swinn 17-3-220-25-15.71.

Bowling—R. S. W. Roberts 187.4–59–429–28–15.32; C. E. Dawson 74–18–221–14–15.78; A. J. Veal 211.5–69–488–30–16.26; P. B. Mensah 99.3–23–213–12–17.75; J. A. Robin 127.5–21–353–17–20.76; S. Akoto 121.3–31–351–12–29.25.

MILTON ABBEY SCHOOL

Played 13: Won 3, Lost 8, Drawn 2, Abandoned 1

Master i/c: S. T. Smail

Batting—C. G. Bevan 12–0–274–64–22.83; *R. W. H. Gamble 13–0–208–41–16.00; W. Browne-Swinburne 12–0–188–38–15.66; J. L. Luxmoore 12–1–171–31*–15.54.

Bowling—C. F. Meyrick 76.2–19–301–25–12.04; G. Cameron-Clarke 63.3–15–218–15–14.53; R. W. H. Gamble 161–47–423–29–14.58; C. D. Lindsay 118.5–37–298–18–16.55.

MONKTON COMBE SCHOOL

Played 16: Won 8, Lost 4, Drawn 4

Master i/c: P. C. Sibley

Cricket professional: N. D. Botton

Batting—A. P. S. McDougal 14–4–527–78*–52.70; *A. P. Fussell 14–1–461–72–35.46; I. C. Reid 14–3–389–95–35.36; R. M. B. Salmon 11–3–177–55*–22.12; A. D. W. Kenworthy 7–2–102–50*–20.40; A. J. Bristow 8–1–111–50*–15.85.

Bowling—I. C. Reid 40–10–141–10–14.10; G. P. W. Stainthorpe 146–25–447–31–14.41; P. C. Lewinton 61–9–227–12–18.91; D. E. L. Jones 137–45–467–18–25.94; A. D. W. Kenworthy 135–28–448–16–28.00.

MONMOUTH SCHOOL

Played 15: Won 6, Lost 2, Drawn 7

Master i/c: P. D. R. Anthony

Cricket professional: G. I. Burgess

Batting—M. J. Tremlett 4–3–134–72*–134.00; S. P. James 15–2–651–106–50.07; M. F. Kear 15–1–581–103–41.50; *G. A. Davies 12–3–360–116–40.00; R. I. Clitheroe 15–3–388–100*–32.33; P. D. Thomas 11–3–192–67–24.00; J. Browning 9–2–116–42–16.57; B. T. Kantolinna 12–3–114–57*–12.66.

Bowling—G. A. Davies 133.1–37–376–22–17.09; B. T. Kantolinna 146–44–401–22–18.22; A. J. Kear 113.4–30–328–18–18.22; M. F. Kear 105.1–29–383–12–31.91.

NORWICH SCHOOL

Played 13: Won 2, Lost 7, Drawn 4. Abandoned 2

Master i/c: P. J. Henderson

Batting—N. J. E. Foster 13–0–271–49–20.84; S. C. Copeman 11–0–163–62–14.81; J. R. Marsh 10–1–132–47–14.66; G. J. Morgan-Hughes 12–1–161–52–14.63; J. G. Crane 10–3–102–42*–14.57; D. M. Orr 13–1–171–51–14.25; R. D. James 9–1–107–28*–13.37; *J. A. Cooper 13–0–167–39–12.84.

Bowling—R. M. S. Scott 110.3–28–313–20–15.65; J. G. Crane 96–11–371–19–19.52; N. J. E. Foster 93.3–17–356–18–19.77; D. M. Orr 61.5–8–227–11–20.63; J. A. Cooper 122–28–338–13–26.00.

NOTTINGHAM HIGH SCHOOL

Played 22: Won 11, Lost 2, Drawn 9

Master i/c: P. G. Morris

Cricket professional: H. Latchman

Batting—J. G. Morris 22-3-748-104*-39.36; S. D. Wilkins 17-7-382-75-38.20; J. A. Pitman 20-3-519-84*-30.52; G. D. Harding 13-7-161-46*-26.83; N. Patel 11-2-213-55*-23.66; T. J. Deas 12-3-179-64*-19.88; J. P. Heather 11-4-136-29*-19.42; *A. J. Reeves 13-2-181-78*-16.45; G. E. Heathcote 22-1-326-45-15.52.

Bowling—J. P. Heather 298.5–47–493–33–14.93; G. D. Harding 253.1–67–782–52–15.03; A. J. Reeves 99–37–227–11–20.63; S. D. Wilkins 252.2–43–795–35–22.71; M. Saxelby 114.1–30–271–11–24.63; T. J. Deas 91.4–10–324–11–29.45.

OAKHAM SCHOOL

Played 17: Won 2, Lost 7, Drawn 8

Master i/c: J. Wills

Cricket professional: I. H. S. Balfour

Batting—A. R. G. McLure 16-1-400-72-26.66; C. M. E. Calvert 14-4-266-61-26.60; *A. C. Welch 15-3-315-53*-26.25; J. M. Wratten 14-3-250-53-22.72; H. J. Page 13-2-228-60-20.72; S. R. Ratcliffe 15-1-271-50*-19.35; R. Doncaster 8-1-115-58-16.42.

Bowling—D. A. Lewis 201.1–56-620-41-15.12; C. Wright 89.5–18-315-17-18.52; J. M. Wratten 148.5–32-458-17-26.94; R. Doncaster 147-27-518-10-51.80.

OUNDLE SCHOOL

Played 18: Won 8, Lost 1, Drawn 9. Abandoned 2

Master i/c: M. J. Goatly

Cricket professional: A. Watkins

Batting—*A. S. A. Townsend 18–6–1,005–159*–83.75; P. W. O. Massey 12–4–229–51*–28.62; W. J. B. Ward 17–4–368–45–28.30; J. S. Carr 14–4–244–50–24.40; T. Chater 14–0–268–54–19.14; G. M. Jones 7–1–100–50*–16.66; J. H. D. Andrews 14–2–142–35*–11.83.

Bowling—M. I. W. Russell 189.5–67–478–34–14.05; J. S. Carr 270.5–74–702–44–15.95; P. J. Williamson 122–34–323–18–17.94; A. R. Pinnington 233–76–517–27–19.14; M. J. Sewell 73–14–282–11–25.63.

THE PERSE SCHOOL

Played 17: Won 3, Lost 2, Drawn 12

Master i/c: A. W. Billinghurst

Batting—*J. M. C. Stenner 16–1–796–139*–53.06; C. P. Wass 17–1–500–115*–31.25; R. Hanka 14–0–315–56–22.50; S. C. Riley 14–2–257–73–21.41; J. E. Bishop 10–4–115–30–19.16; B. S. J. Hutchison 10–3–113–29–16.14; P. Ansell 15–1–164–30–11.71.

Bowling—R. Hanka 117-30-297-18-16.50; N. I. Brownlie 73-17-244-12-20.33; S. T. Whiteside 137.4-41-376-15-25.06; C. P. Wass 205-60-558-19-29.36.

PLYMOUTH COLLEGE

Played 19: Won 8, Lost 5, Drawn 6. Abandoned 1

Master i/c: T. J. Stevens

Batting—C. Norsworthy 16-4-588-109*-49.00; *N. Trobridge 18-4-542-101-38.71; S. Crawford 18-2-534-80*-33.37; J. Clarke 10-4-175-47-29.16; S. Wright 16-2-356-68-25.42.

Bowling—A. Luffman 131.2–24-496–36–13.77; A. Dowling 183.4–48–498–30–16.60; S. Woodward 115–20–372–21–17.71; B. Johns 69.4–13–288–13–22.15; S. Crawford 129–23–392–17–23.05.

POCKLINGTON SCHOOL

Played 24: Won 10, Lost 9, Drawn 5

Master i/c: D. Nuttall

Batting—*R. T. Nuttall 24–3–1,053–144*–50.14; R. M. Picknett 23–3–617–91*–30.85; M. J. Baker 22–1–533–79–25.38; A. M. Billington 22–1–346–55–16.47; D. Ellinor 21–4–262–43*–15.41; T. P. B. Balderson 15–4–169–58–15.36; M. J. Taylor 15–0–207–33–13.80; J. J. Mansfield 19–2–180–42–10.58.

Bowling—J. D. Nuttall 382.2–93–1,077–67–16.07; A. T. Pettinger 173–47–455–26–17.50; P. J. Buckley 223.1–42–712–30–23.73; T. P. Balderson 247.3–60–811–30–27.03.

PRIOR PARK COLLEGE

Played 12: Won 1, Lost 7, Drawn 4. Abandoned 1

Master i/c: J. J. Gibney

Cricket professional: P. B. Fisher

Batting—B. V. Kebbie 7–3–150–69–37.50; A. P. Weir 9–0–229–78–25.44; S. M. Brady 7–0–156–92–22.28; *A. Docherty 11–1–167–52–16.70; P. Bruschi 11–0–142–58–12.90.

Bowling-A. P. Weir 69-11-253-11-23.00; A. A. D'Souza 148-26-520-22-23.63.

QUEEN ELIZABETH GRAMMAR SCHOOL, WAKEFIELD

Played 10: Won 1, Lost 5, Drawn 4. Abandoned 1

Master i/c: C. W. M. Furniss

Batting—S. P. Jubb 8-2-329-113*-54.83; A. M. Smith 9-1-273-65-34.12; *J. Swain 9-0-190-51-21.11.

Bowling—A. M. Smith 63–17–133–15–8.86; S. Bushell 41–9–134–14–9.57; S. Wood 74–23–219–11–19.90.

QUEEN'S COLLEGE, TAUNTON

Played 13: Won 3, Lost 3, Drawn 7. Abandoned 2

Master i/c: J. W. Davies

Batting—J. Wilson 13-3-400-103*-40.00; R. Veillard 7-4-115-36*-38.33; M. Jones 13-1-395-103*-32.91; *A. Free 13-1-291-52-24.25; M. Young 12-2-199-60*-19.90; A. Tanner 10-0-191-60-19.10.

Bowling—A. Essien 118–34–271–20–13.55; A. Tanner 95–30–253–12–21.08; G. Hawkins 96.2–28–259–12–21.58; R. Veillard 81–17–398–17–23.41.

RADLEY COLLEGE

Played 14: Won 5, Lost 4, Drawn 5

Master i/c: G. de W. Waller

Cricket professional: A. G. Robinson

Batting—N. E. Marsh 14–4-677-134*-67.70; *C. R. Morris-Adams 13-4-344-54*-38.22; A. T. B. Brocklehurst 10-3-192-69*-27.42; R. J. Beard 10-3-122-51*-17.42; J. R. G. Stephenson 12-3-156-46-17.33; R. J. Flury 10-1-153-66-17.00; C. R. Irwin 11-1-169-46*-16.90; J. C. Smellie 10-1-146-33-16.22.

Bowling—C. R. Morris-Adams 64–17–186–10–18.60; A. D. Murdoch 146–28–366–19–19.26; J. C. Smellie 89–14–366–17–21.52; N. E. Marsh 176–35–473–21–22.52; J. R. G. Stephenson 97–17–385–17–22.64.

RATCLIFFE COLLEGE

Played 19: Won 5, Lost 7, Drawn 7

Master i/c: C. W. Swan

Batting—K. D. Standen 9-0-193-52-21.44; R. J. J. d'Mello 18-2-331-68*-20.68; S. J. Thorne 18-1-302-59-17.76; J. Farnell 18-4-232-56-16.57; E. Cinquini 19-0-304-47-16.00.

Bowling—D. G. Crosse 24–2–101–11–9.18; J. Farnell 126–18–433–24–18.04; *A. P. C. Relton 231–51–661–29–22.79; J. A. Morton 93–8–386–15–25.73.

READING SCHOOL

Played 16: Won 5, Lost 7, Drawn 4

Master i/c: R. G. Owen

Cricket professional: A. Dindar

Batting—J. E. Grimsdale 16–2–622–109–44.42; *D. G. Purslow 16–1–663–160–44.20; A. N. S. Hampton 16–0–494–57–30.87; A. Wrenn 11–3–203–50–25.37; A. T. G. Johnstone 15–1–279–55–19.92; S. J. Clarke 14–2–194–43*–16.16.

Bowling—M. W. Palmer 77–11–299–14–21.35; J. S. Pritchard 202–45–602–26–23.15; N. Heppel 174–42–580–24–24.16; A. N. S. Hampton 132–23–517–18–28.72; A. H. Duncan 106–21–383–12–31.91.

REED'S SCHOOL

Played 19: Won 5, Lost 1, Drawn 13

Master i/c: G. R. Martin

Batting—*A. M. J. Glass 18-6-628-105*-52.33; A. P. Shiells 19-4-778-105*-51.86; J. R. Jamieson 18-1-672-102-39.52; S. H. K. Maddock 14-5-236-63*-26.22; D. Jaksic 12-3-228-48-25.33; W. M. Pendered 12-2-179-44-17.90; J. K. Smedley 11-1-138-49*-13.80.

Bowling—A. P. Shiells 251.1-70-699-43-16.25; D. Jaksic 288-86-780-37-21.08; C. R. Hartley 10-14-379-17-22.29; D. M. Paterson 133.5-27-453-11-41.18.

REIGATE GRAMMAR SCHOOL

Played 21: Won 7, Lost 6, Drawn 8. Abandoned 2

Master i/c: D. C. R. Jones

Cricket professional: H. Newton

Batting—A. C. Bradley 8-4-168-50*-42.00; *J. D. Morgan 20-1-665-118-35.00; A. S. Clayton 21-1-607-61*-30.35; P. A. Rowlinson 21-1-582-124*-29.10; T. J. Lander 10-1-471-132-24.78; E. O. Thesiger 15-6-156-26-17.33; T. S. M. Linnington 19-1-252-39-14.00.

Bowling—E. O. Thesiger 184.3–58–412–25–16.48; R. J. Booth 123.4–32–390–18–21.66; P. A. Rowlinson 189–28–600–27–22.22; J. D. Morgan 164.2–23–611–26–23.50; A. C. Bradley 36-18–305–11–27.72.

REPTON SCHOOL

Played 19: Won 7, Lost 4, Drawn 8. Abandoned 2

Master i/c: M. Stones

Cricket professional: M. Kettle

Batting—N. P. Stocks 19-4-700-125*-46.66; A. A. Bradwell 18-3-364-54-24.26; B. P. H. Richardson 17-3-337-73-24.07; G. A. Cook 19-0-456-82-24.00; R. J. Harvey 14-6-171-32*-21.37; R. J. Ingles 12-0-233-49-19.41; *A. S. J. Pass 19-0-343-62-18.05; W. J. Sadler 12-2-146-34-14.60.

Bowling—P. J. Brownhill 128-27-419-22-19.04; R. W. A. Pyne 211-49-656-33-19.87; R. J. Harvey 60-8-238-11-21.63; P. J. A. Heathcote 190-35-693-32-21.65.

ROSSALL SCHOOL

Played 15: Won 3, Lost 2, Drawn 10

Master i/c: R. J. Clapp

Batting—H. O. Fajemirokun 12–4–248–50*–31.00; *T. D. Garner 15–1–395–68–28.21; K. C. Stiles 14–2–261–61*–21.75; S. J. Harris 14–2–237–57–19.75; C. J. D. Lees 15–1–249–58–17.78; P. D. Gatenby 10–2–137–65–17.12; M. P. D. Greenwood 13–1–147–39–12.25.

Bowling—K. C. Stiles 210–57–582–29–20.06; C. J. D. Lees 175–33–580–28–20.71; A. G. Smith 170–38–504–16–31.50.

THE ROYAL GRAMMAR SCHOOL, GUILDFORD

Played 13: Won 5, Lost 5, Drawn 3

Masters i/c: S. Shore and O. Lawson

Batting—H. Millar 13-1-480-98-40.00; M. Cain 10-2-270-57-33.75; P. Gullick 13-0-293-42-22.53; N. Bowman 11-2-159-37*-17.66; C. Livingston 9-1-136-26-17.00.

Bowling—*A. Denby 126.3–26–441–21–21.00; H. Millar 86.5–8–310–13–23.84; C. Livingston 97.3–20–363–14–25.92; J. Jeveons 74.1–14–312–11–28.36; J. Bigg 128–41–306–10–30.60.

ROYAL GRAMMAR SCHOOL, NEWCASTLE

Played 16: Won 3, Lost 4, Drawn 9

Master i/c: D. W. Smith

Cricket professional: P. Jackson

Batting—P. J. Hollis 14–3–322–66*–29.27; A. Atkinson 4–0–116–45–29.00; M. A. Reed 16–0–377–72–23.56; J. M. Harrison 11–1–220–100*–22.00; S. J. Sill 10–3–136–39*–19.42; M. I. Scott 16–2–254–42*–18.14; *M. Bailey 15–2–228–52–17.53.

Bowling—A. R. Hitchcock 162–40–435–35–12.42; M. Bailey 129–30–382–19–20.10; G. Harmer 142–31–406–20–20.30.

ROYAL GRAMMAR SCHOOL, WORCESTER

Played 25: Won 14, Lost 3, Drawn 8

Master i/c: C. N. Boyns

Cricket professional: M. J. Horton

Batting—D. P. Spiller 21–5–708–88*–44.25; D. M. Woodfield 18–5–378–76–29.07; *J. S. Phillips 23–2–566–84*–26.95; D. P. Norris 23–3–504–81*–25.20; D. J. Powell 14–1–280–70–21.53; D. C. Richmond 22–4–386–112–21.44; I. G. Jinks 13–4–146–46*–16.22; S. Legge 12–3–130–34–14.44; A. J. Bottomer 15–1–115–33–8.21.

Bowling—I. G. Jinks 207.4–57–558–45–12.40; J. S. Phillips 298.2–97–671–54–12.42; D. C. Richmond 248.1–44–691–36–19.19; G. Burrow 81–14–292–12–24.33; J. B. Phillips 187.5–42–610–21–29.04.

RUGBY SCHOOL

Played 15: Won 5, Lost 6, Drawn 4. Abandoned 1

Master i/c: K. Siviter

Cricket professional: J. Stewart

Batting—*D. J. Cleverly 17–1–612–114–38.25; R. F. Winchester 15–8–256-43–36.57; T. P. Skipper 17–0–443–100–26.05; Y. J. Khan 7–1–118–40–19.66; G. R. Everest 7–1–111–49–18.50; M. A. Gow 12–2–176–53–17.60; W. R. J. Cock 16–1–240–51–16.00; T. H. A. Arulampalam 11–0–155–59–14.09.

Bowling—C. Lindsay 147.5-37-380-23-16.52; D. J. Cleverly 157-49-460-26-17.69; J. J. Bourne 185-48-480-27-17.77; H. Bhatia 227-46-735-39-18.84.

RYDAL SCHOOL

Played 14: Won 3, Lost 4, Drawn 7

Master i/c: M. H. Stevenson

Cricket professional: R. W. C. Pitman

Batting—*J. T. Owen 14–3–546–91*–49.63; C. F. Robinson 13–1–273–59–22.75; R. H. Searle 8–2–110–40*–18.33; T. W. Johnson 13–1–120–19*–10.00; E. Jones 14–1–116–29–8.92.

Bowling—S. M. Woodhead 76-29-177-16-11.06; M. J. Morrison 54-7-194-15-12.93; J. M. Sherrington 155-36-415-25-16.60; M. G. Pollard 84-23-224-10-22.40; I. L. Lloyd 106-36-252-10-25.20.

ST DUNSTAN'S COLLEGE

Played 16: Won 2, Lost 7, Drawn 7. Abandoned 1

Master i/c: C. Matten

Batting—K. Norman 10-4-147-50-24.50; R. Tomlin 15-0-341-61-22.73; R. Cosgrove 15-3-262-55-21.83; C. Steer 12-1-202-33-18.36; *P. Slade 16-0-282-117-17.62; A. Colley 15-2-228-53-17.53; A. Dowler 11-2-143-44-15.88; S. Tyler 16-0-209-31-13.06; E. Moseley 11-1-117-36-11.70; G. Pointer 11-2-104-43*-11.55.

Bowling—P. Slade 36-6-135-10-13.50; G. Pointer 166-56-392-23-17.04; K. Norman 97-19-310-16-19.37; A. Dowler 231-58-649-30-21.63; W. Beavington 120-30-351-15-23.40.

ST EDMUND'S SCHOOL, CANTERBURY

Played 14: Won 5, Lost 4, Drawn 5

Master i/c: H. W. Scott

Cricket professional: D. V. P. Wright

Batting—*A. P. Walton 14-2-634-122-52.83; N. C. Hopper 14-1-322-56-24.76; S. M. Tarrant 10-3-125-32-17.85; S. D. Beckett 14-0-232-51-16.57; M. R. Lunn 11-4-116-32-16.57; D. H. Hopkins 12-0-162-38-13.50; P. A. H. Maffett 12-1-134-23-12.18; A. J. C. Eagar 11-2-100-25-11.11.

Bowling—A. P. Walton 183.5-58-448-34-13.17; M. R. Lampard 39-5-145-11-13.18; S. M. Tarrant 101-26-286-18-15.88; N. C. Hopper 111-27-290-11-26.36.

ST EDWARD'S SCHOOL, OXFORD

Played 14: Won 1, Lost 5, Drawn 8

Master i/c: P. G. Badger

Cricket professional: B. R. Edrich

Batting—*D. A. Cane 14–2–490–170–40.83; N. Goldson 12–0–336–80–28.00; A. Burke 8-3–112–32–22.40; P. Daniel 7–0–152–60–21.71; R. J. Hall 12–1–205–91–18.63; J. Ball 10–2–129–36*–16.12; M. Jones 13–0–200–68–15.38; R. W. Sadler 13–1–169–53–14.08.

Bowling—C. Sharp 56–23–144–11–13.09; D. A. Cane 157–13–448–18–24.88; J. Kelly 161–33–497–13–38.23.

ST GEORGE'S COLLEGE, WEYBRIDGE

Played 19: Won 7, Lost 2, Drawn 10

Master i/c: B. O'Gorman

Batting—*T. J. G. O'Gorman 17–0–763–131–44.88; P. E. Jansen 19–1–483–82–26.83; A. J. Woodhead 16–3–331–61–25.46; D. J. Jessop 13–4–217–68–24.11; I. Marsh 15–3–282–58–23.50; J. W. P. Jones 17–2–335–51–22.33; A. B. High 17–2–247–52*–16.46; A. J. Smith 13–1–177–44–14.75; R. Garland 15–0–215–56–14.33.

Bowling—A. J. Woodhead 279.2–105–643–44–14.61; P. J. Segal 195.5–64–480–28–17.14; I. J. G. O'Gorman 206–53–659–35–18.82; H. J. Harper 100–29–287–15–19.13.

ST JOHN'S SCHOOL, LEATHERHEAD

Played 14: Won 4, Lost 0, Drawn 10. Abandoned 1

Master i/c: A. B. Gale

Cricket professional: E. Shepperd

Batting—T. G. Mawdsley 13–6–362–81*–51.71; P. R. Richardson 14–1–493–88*–37.92; J. P. Harwood 11–3–250–45*–31.25; S. J. Walster 12–1–275–80–25.00; S. E. Penfold I1–2–166–43*–18.44; *J. E. B. Cope 9–2–126–31–18.00; R. B. Henderson 12–2–169–32–16.90; N. S. Fenton 10–0–144–33–14 40.

Bowling—R. B. Henderson 47–13–135–10–13.50; P. R. Richardson 129–28–345–18–19.16; I. G. Mawdsley 157.2–35–463–21–22.04; T. J. Head 139–35–502–21–23.90; N. S. Fenton 149.2-41–419–15–27.93.

ST LAWRENCE COLLEGE

Played 15: Won 5, Lost 5, Drawn 5. Abandoned 3

Master i/c: N. O. S. Jones

Cricket professional: L. A. C. D'Arcy

Batting—A. O. Uzor 14–1–331–56–25.46; M. Carrington 10–2–185–70*–23.12; T. S. Whitehead 13–2–252–63–22.90; E. V. Phillips 10–1–187–49–20.77; M. W. Carson 14–6–164–31–20.50; *G. G. Philpott 13–1–181–26*–15.08; J. E. Barden 12–1–152–49–13.81; S. El Fadil 9–1–102–25–12.75.

Bowling-G. G. Philpott 219-32-655-44-14.88; M. J. Stevens 202.1-40-680-19-35.78.

ST PAUL'S SCHOOL

Played 13: Won 3, Lost 6, Drawn 4. Abandoned 2

Master i/c: G. Hughes

Cricket professional: E. W. Whitfield

Batting—J. P. Partridge 8-1-317-71-45.28; P. J. Littler 14-2-341-67*-28.41; J. A. Steinhart 10-2-225-78*-28.12; M. G. Boulton 14-0-345-65-24.64; *J. T. K. Evans 14-0-306-80-21.85; C. J. Manson 13-1-143-24-11.91; C. A. S. Malir 12-1-111-28-10.09.

Bowling—J. J. Farrell 144.5–30–546–21–26.00; C. A. S. Malir 132.3–22–497–18–27.61; J. M. Webber 128.2–29–493–13–37.92.

ST PETER'S SCHOOL, YORK

Played 15: Won 3, Lost 2, Drawn 10

Master i/c: D. Kirby

Cricket professional: K. J. Mohan

Batting—J. P. Atkinson 16–2–565–130*–40.35; *G. Y. Taylor 15–2–510–88–39.23; C. E. Gilman 11–3–232–57–29.00; J. E. B. Burdass 16–1–430–167*–28.66; J. Brewster 9–4–100–36*–20.00; P. M. Toes 16–0–291–75–18.18; G. G. B. Robinson 10–1–153–26*–17.00.

Bowling—J. Brewster 55.2–6–235–10–23.50; I. J. Barker 169–33–635–27–23.51; G. Y. Taylor 108.2–23–315–13–24.23; S. Forman 161.1–41–675–20–33.75.

SEDBERGH SCHOOL

Played 15: Won 3, Lost 3, Drawn 9

Master i/c: M. J. Morris

Batting—J. B. Coulthard 16–1–448–92–29.86; J. P. Cheetham 15–2–330–88–25.38; J. I. Foggitt 13–2–260–74–23.63; M. W. Mewburn 9–3–135–33–22.50; A. R. Wright 15–0–320–51–21.33; *M. T. Alban 14–1–245–105*–18.84; N. B. D. Roberts 13–2–175–35–15.90.

Bowling—M. W. Mewburn 127.1-40-283-25-11.32; S. M. Short 157-35-411-28-14.67; A. Farrington 109.1-34-285-18-15.83; J. I. Foggitt 86-16-261-15-17.40; J. P. Cheetham 179.5-31-559-29-19.27.

SEVENOAKS SCHOOL

Played 14: Won 2, Lost 1, Drawn 11. Abandoned 2

Master i/c: I. J. B. Walker

Batting—J. D. Mitchell 12-2-332-68-33.20; C. J. Crang 12-2-309-82-30.90; *N. J. Polkinhorne 12-2-254-70*-25.40; N. C. Baker 10-2-147-40-18.37; D. C. Busvine 12-2-175-40-17.50; N. B. Turk 11-1-162-40*-16.20; R. E. McCanna 12-3-133-49-14.77.

Bowling—N. B. Turk 126.3–39–364–23–15.82; A. J. Preston 237.4–50–691–40–17.27; A. Griffiths 114.3–17–371–18–20.61.

SHERBORNE SCHOOL

Played 18: Won 8, Lost 1, Drawn 9

Master i/c: A.J. Hignell

Cricket professional: C. Stone

Batting—D. M. G. Wright 8-4-176-37-44.00; D. W. Thorne 17-1-472-82-29.50; S. W. S. Millar 17-3-407-77*-29.07; S. R. C. Knechtli 11-5-168-29-28.00; *P. S. A. Cockerham 8-2-422-86-26.37; I. F. Bourke 11-1-206-55*-20.60; R. J. H. Gray 10-0-184-47-18.40; N. H. Peters 14-5-162-36-18.00; R. A. Matthews 16-1-246-44-16.40.

Bowling—N. H. Peters 203.1-67-490-34-14.41; I. P. M. Sharpe 238.5-66-600-39-15.38; C. M. Ward 127.1-48-271-17-15.94; S. R. C. Knechtli 185.2-53-481-30-16.03.

SHREWSBURY SCHOOL

Played 23: Won 13, Lost 1, Drawn 9

Master i/c: C. M. B. Williams

Cricket professional: P. H. Bromley

Batting—J. R. Prichard 4–2–222–78*–111.00; *A. D. Hobson 20–4–740–103*–46.25; D. J. Pollock 21–5–739–124*–46.18; J. O. Cadwallader 22–3–676–112–35.57; E. L. Home 19–4–527–126*–35.13; R. L. Harvey 13–6–203–45–29.00; J. A. Skelton 15–6–201–50–22.33; J. M. Eaton 19–5–283–45–20.21.

Bowling—I. S. Marshall 175.2–57-401–31–12.93; E. L. Home 193.2–50–526–38–13.84; R. P. Holt 398.4–120–1,150–68–16.91; A. D. Hobson 132.5–31–457–21–21.76; R. L. Harvey 176-47–507–20–25.35; J. E. Reakes-Williams 135.4–30–409–12–34.08.

SIMON LANGTON GRAMMAR SCHOOL

Played 14: Won 9, Lost 1, Drawn 4. Abandoned 2

Master i/c: R. F. Harriott

Cricket professional: I. M. Gillespie

Batting—M. C. Dobson 13-4-340-63*-37.77; I. M. Scoones 14-1-356-52-27.38; R. J. Davis }-1-167-37-23.85; *R. I. James 13-0-151-39-11.61.

Bowling—S. P. Sloman 158.4–54–316–46–6.86; M. C. Dobson 88–21–196–20–9.80; D. O. G. Sullivan 66–10–158–12–13.16; D. M. Fields 106–20–309–14–22.07.

SIR ROGER MANWOOD'S SCHOOL

Played 10: Won 2, Lost 6, Drawn 2. Abandoned 2

Master i/c: P. W. Kullman

Batting—A. N. Marsh 10-2-156-28-19.50; V. C. Marsh 9-0-172-42-19.11; R. D. Spence 10-0-150-58-15.00.

Bowling—V. C. Marsh 84.2–17–180–14–12.85; M. I. A. Howell 153–41–332–23–14.43; A. R. Spence 46.4–6–160–10–16.00.

SOLIHULL SCHOOL

Played 22: Won 8, Lost 8, Drawn 6

Master i/c: M. R. Brough

Batting—*S. Frost 22–2–722–111*–36.10; W. Swift 22–1–573–83–27.28; J. Brunskill 22-4-426–64*–23.66; R. Masters 15–6–182–56–20.22; S. Townsley 18–3–297–46–19.80; N. Spall 14–1–224–46*–17.23; M. Whitehead 14–2–196–57*–16.33; M. Shelton 14–3–179–56–16.27; R. Lucas 15–4–156–47–14.18; L. Myers 16–4–131–35–10.91.

Bowling—P. Ryan-Bell 49–7–194–12–16.16; R. Masters 191–36–641–31–20.67; M. Shelton 146–25–577–25–23.08; J. Green 155.3–32–599–23–26.04; M. Whitehead 144.4–34–490–17–28.82; L. Myers 129–27–445–13–34.23.

STAMFORD SCHOOL

Played 18: Won 3, Lost 4, Drawn 11

Master i/c: H. K. Bell

Batting—G. M. Canham 18-0-623-92-34.61; R. P. C. Plant 15-3-389-77-32.41; R. C. Hibbitt 16-2-294-52-21.00; J. R. S. Allin 15-3-231-76*-19.25; J. P. W. Taylor 12-4-134-41-16.75; C. M. Birch 14-3-171-52-15.54; *P. J. Birch 17-0-237-83-13.94.

Bowling—J. P. W. Taylor 145–47–353–22–16.04; S. Atkinson 83.2–9–376–19–19.78; C. M. Birch 202.4–48–545–25–21.80; R. P. C. Plant 116–31–292–13–22.46; J. R. S. Allin 167–27–565–21–26.90.

STOCKPORT GRAMMAR SCHOOL

Played 17: Won 4, Lost 6, Drawn 7

Master i/c: L. P. Kynaston

Batting—M. K. Duckworth 5–2–120–50–40.00; I. C. Tittle 17–2–588–75*–39.20; B. N. Kabbani 16–2–468–67*–33.42; N. E. Samarji 16–2–338–73*–24.14; *T. P. R. Reeman 11–0–238–47–21.63; D. A. Woodhead 11–0–120–26–10.90.

Bowling—T. P. R. Reeman 143.4–35–404–32–12.62; A. J. Tipping 92.3–12–390–16–24.37; J. I. Critchlow 183–37–619–21–29.47; D. A. Woodhead 167.3–26–571–14–40.78.

STOWE SCHOOL

Played 21: Won 2, Lost 10, Drawn 9

Master i/c: R. Marsden

Cricket professional: I. L. Pont

Batting—M. S. Riley 21–0–613–73–29.19; R. S. M. Morris 20–2–467–69–25.94; C. J. Rotheroe 20–2–401–70–22.27; *C. J. Stopford 19–3–319–43–19.93; T. E. Perei 11–1–198–49–19.80; J. P. Rigg 16–6–189–60–18.90; R. M. C. Eimitt 11–2–138–34–15.33; G. E. B. Mander 15–2–117–30–9.00.

Bowling—C. Whitmore 208.2–56–668–49–13.63; J. G. Stocks 115–18–383–19–20.15; L. B. Turner 145.2–29–462–18–25.66; P. A. Campbell 110–19–411–13–31.61; J. P. Rigg 211–70–632–17–37.17.

STRATHALLAN SCHOOL

Played 18: Won 8, Lost 5, Drawn 5. Abandoned 1

Master i/c: R. J. W. Proctor

Batting—N. H. McKee 18-4-777-88*-55.50; G. S. R. Robertson 17-2-344-70-22.93; M. J. Heggie 17-1-362-77-22.62; R. S. Hamilton 18-1-318-132*-18.70; *J. M. Garnett 17-1-274-60-17.12; R. D. Baird 12-3-121-40-13.44; R. E. M. Reah 13-2-147-46-13.36; G. R. F. Corbett 13-4-111-23-12.33.

Bowling—R. D. Baird 114.3–26–344–23–14.95; T. J. Pawson 261.1–77–769–45–17.08; A. W. Tench 235.4–55–683–37–18.45; N. H. McKee 112–30–364–17–21.41; G. W. A. Truter 97.4–25–329–11–29.90.

SUTTON VALENCE SCHOOL

Played 15: Won 3, Lost 7, Drawn 5. Abandoned 2

Master i/c: D. Pickard

Batting—*J. P. Sunnucks 14-2-539-103*-44.91; S. P. Walton 12-0-256-61-21.33; S. C. Sunnucks 8-2-119-24-19.83; R. S. Matthews 15-0-238-62-15.86; D. J. Prosser 12-0-134-45-11.16; D. T. Paine 15-2-140-41-10.76.

Bowling—R. J. Ashton 118–34–308–30–10.26; J. P. Sunnucks 186–39–611–31–19.70; D. T. Paine 152.5–34–516–16–32.25.

TAUNTON SCHOOL

Played 17: Won 4, Lost 2, Drawn 11. Abandoned 1

Master i/c: R. P. Smith

Cricket professional: A. Kennedy

Batting—*N. J. Pringle 16–3–749–137–57.61; R. J. Bartlett 16–2–757–133–54.07; M. A. Blake 10–4–204–51–34.00; P. H. Gibb 9–5–131–39–32.75; N. J. Waters 17–0–528–121–31.05; C. A. Wilson 15–4–283–46*–25.72; J. C. Pike 6–0–104–56–17.33; C. B. Walker 10–1–152–53–16.91.

Bowling—N. J. Pringle 174.3–48–541–32–16.90; N. J. Waters 89–22–311–17–18.29; P. H. Gibb 176.3–31–565–21–26.90; L. S. D. Dando 110.3–30–327–12–27.25; A. J. Connell 179–33–607–22–27.59.

TIFFIN SCHOOL

Played 16: Won 6, Lost 4, Drawn 6. Abandoned 3

Master i/c: M. J. Williams

Batting—A. M. Morley-Brown 14–3–753–124*–68.45; R. L. Hunt 6–1–147–76*–29.40; *N. A. Legg 16–0–443–117–27.68; S. P. Randall 14–3–168–47–15.27; C. E. Pinfold 15–3–166–60*–13.83; J. J. W. North 16–0–210–40–13.12; P. M. Merrifield 16–1–193–48–12.86; N. P. Warren 15–0–184–61–12.26; M. R. Coote 13–1–130–33–10.83.

Bowling—M. R. Coote 222–55–547–38–14.39; K. C. P. Pamphilon 121.3–28–371–21–17.66; W. Shermer 153.1–33–498–24–20.75; S. P. Randall 118.3–28–384–17–22.58.

TONBRIDGE SCHOOL

Played 19: Won 8, Lost 2, Drawn 9

Master i/c: D. R. Walsh

Cricket professional: H. J. Mutton

Batting—R. Owen-Browne 16-4-718-105-59.83; J. I. Longley 18-3-663-102*-44.20; B. P. Ward 14-1-524-86-40.30; S. T. Pollington 7-2-152-72-30.40; E. J. Richardson 15-2-381-69-29.30; J. J. Longley 17-0-404-70-23.76; J. B. Coburn 15-3-249-84*-20.75; D. M. Brown 16-3-259-50-19.92; M. A. Hardcastle 13-3-196-48-19.60.

Bowling—M. A. Hardcastle 275–88–766–40–19.15; W. J. Chaloner 243–73–727–37–19.64; J. P. Nolan 196–42–582–23–25.30; J. I. Longley 67–10–271–10–27.10; E. J. Richardson №-23–286–10–28.60.

TRENT COLLEGE

Played 14: Won 6, Lost 1, Drawn 7

Master i/c: H. Cartwright

Batting—R. T. Lawless 10–0–308–73–30.80; T. P. Statham 12–3–212–36*–23.55; P. E. Gregory 9-2–155–57–22.14; *H. J. White 13–1–256–35–21.33; T. S. McQuilkin 10–0–159–44–15.90; S. C. Karios 13–0–170–33–13.07.

Bowling—T. P. Statham 118.3–33–273–40–6.82; P. E. Gregory 84–31–173–15–11.53; S. C. Karios 96–24–253–19–13.31; W. J. Fox 89–13–269–14–19.21.

TRINITY SCHOOL

Played 29: Won 12, Lost 5, Drawn 12. Abandoned 1

Master i/c: B. Widger

Batting—D. H. Cooper 29–3–923–107*–35.50; *N. W. F. Redwood 29–0–913–103–31.48; J. A. J. Warburton 29–3–708–105–27.23; A. P. Williams 25–5–436–53–21.80; G. M. Vigor 13–0–222–57–17.07; A. J. Holder 23–4–305–58*–16.05; K. M. Yeates 12–0–143–32–11.91

Bowling—M. A. Medler 229.2-61-642-38-16.89; N. W. F. Redwood 310.2-57-1,012-50-20.24; A. J. Holder 283.5-75-816-39-20.92; J. W. Harlow 280.5-46-926-39-23.74; D. J. Trafford 245.1-39-831-25-33.24.

TRURO SCHOOL

Played 15: Won 4. Lost 7. Drawn 4

Master i/c: A. J. D. Aldwinckle

Batting—*M. G. Phillips 13–4–233–66*–25.88; J. A. Daniel 9–3–154–55–25.66; P. S. Holmes 14–2–276–79–23.00; M. W. Yates 15–3–243–63–20.25; P. G. Phillips 12–1–209–52–19.00; S. J. Richards 14–0–249–52–17.78; A. Knychala 14–0–193–62–13.78.

Bowling—P. S. Holmes 145.5–31–500–26–19.23; S. J. Richards 120–31–382–18–21.22; R. M. H. Bell 99–20–301–12–25.08.

UPPINGHAM SCHOOL

Played 14: Won 2, Lost 5, Drawn 7. Abandoned 1

Master i/c: P. L. Bodily

Cricket professional: M. R. Hallam

Batting—A. G. W. Lewin 14–2–530–126*–44.16; C. P. Oscroft 14–0–309–69–22.07; D. J. Kennedy 13–0–281–63–21.61; *J. S. Williams 14–1–264–53–20.30; J. C. P. Smith 13–0–249–53–19.15; D. G. M. Josephs 13–3–165–36–16.50; R. M. Sunderland 7–0–101–35–14.42.

Bowling—J. S. Williams 211.4-46-522-22-23.72; A. S. Waters 165.4-25-587-21-27.95; M. Chilton 117-31-360-12-30.00; J. R. Bettsworth 83-15-270-11-24.54.

VICTORIA COLLEGE, JERSEY

Played 23: Won 7, Lost 2, Drawn 14

Master i/c: D. A. R. Ferguson

Cricket professional: R. A. Pearce

Batting—*P. L. Lalor 19-3-662-107*-41.37; C. M. Graham 20-4-554-124*-34.62; J. W. Kellett 19-2-419-55-24.64; J. R. H. Dodd 18-2-379-71*-23.68; J. M. W. Giles 15-4-249-54*-22.63; A. D. Brown 12-4-171-61-21.37; T. V. R. Hanson 12-3-172-50-19.11; G. E. Mauger 12-2-134-29-13.40.

Bowling—N. T. Greenwood 56–13–167–10–16.70; C. M. Graham 217–45–680–40–17.00; T. V. R. Hanson 143–29–428–25–17.12; J. M. W. Giles 216–48–625–36–17.36; D. V. Carnegie 132–18–455–23–19.78; A. D. Brown 143–16–541–26–20.80.

WARWICK SCHOOL

Played 15: Won 2, Lost 0, Drawn 13

Master i/c: I. B. Moffatt

Cricket professional: N. Horner

Batting—N. M. K. Smith 14–2–652–130*–54.33; A. Woodcock 13–3–402–115*–40.20; A. J. Moffatt 12–3–307–53*–34.11; J. D. Stanton 12–3–277–69*–30.77; I. D. Bolton 14–1–377–92*–29.00; G. M. Robinson 12–1–273–51–24.81; *R. J. Dillon 14–1–320–100*–24.61.

Bowling—S. J. Holdsworth 191.1–60–513–35–14.65; R. J. Lewis 97–25–338–15–22.53; G. M. Robinson 83–19–303–12–25.25; S. J. R. Lane 89–14–325–11–29.54; N. M. K. Smith 113–13–424–11–38.54.

WELLINGBOROUGH SCHOOL

Played 16: Won 5, Lost 3, Drawn 8

Master i/c: C. J. Ford

Cricket professional: J. C. J. Dve

Butting—P. S. H. Wilson 16–3–356–52*–27.38; A. Mabbutt 16–1–387–69–25.80; T. H. Coggins ||-3–159–49*–19.87; M. J. Green 16–2–259–52*–18.50; I. D. Tinson 16–1–277–58–18.46; C. G. Smith 13–2–159–35–14.45.

Bowling—C. G. Smith 136-32-425-27-15.74; M. D. Dutoy 154-43-427-21-20.33; T. K. Marriott 134-31-403-19-21.21; M. H. Griffiths 110-20-398-13-30.61.

WELLINGTON COLLEGE, BERKSHIRE

Played 16: Won 2, Lost 5, Drawn 9. Abandoned 1

Master i/c: D. J. Mordaunt

Cricket professional: P. J. Lewington

bitting—G. R. Reynolds 17–0–593–107–34.88; A. J. Braithwaite 14–2–373–106–31.08;
 D. S. C. Mallinson 16–3–358–64*–27.53; J. T. E. Illingworth 17–1–435–78–27.18; J. P. Wilkes
 1/2–368–50*–26.28; P. J. Istead 14–5–176–63*–19.55; T. M. R. Lord 14–3–190–32–17.27.

bivling—G. R. Reynolds 130.2–31–353–26–13.57; A. J. L. Hunter 149–35–363–19–19.10; P. J. D. Simmons 120.5–35–289–14–20.64; T. M. R. Lord 206–49–588–22–26.72; D. P. Granger 131–32–391–13–30.07.

WELLINGTON SCHOOL, SOMERSET

Played 10: Won 2, Lost 2, Drawn 6, Abandoned 1

Master i/c: I. F. Loudon

Mtting—D. Pascoe 8-4-104-35*-26.00; *J. W. Hine 10-1-230-42-25.55; T. D. Over 10-1-224-50-24.88; G. Salter 9-0-192-55-21.33; D. Halsall 10-2-149-34-18.62; M. Salter 80-122-35-15.25.

biviling—N. C. Hall-Palmer 79.2–19–302–17–17.76; N. Macdonald 101.3–20–431–19–22.68; Loudon 87–10–370–11–33.63.

WESTMINSTER SCHOOL

Played 13: Won 3, Lost 4, Drawn 6. Abandoned 2

Master i/c: J. A. Cogan

Cricket professional: R. Gilson

htting—C. J. A. Morrell 13-0-281-114-21.61; O. C. Pennant Jones 13-2-231-70*-21.00; J. Levy 13-1-218-50-18.16; A. C. King 12-0-157-46-13.08; M. D. F. Pennington 1-107-46*-10.70; T. J. Mather 11-103-22-10.30.

bwling—A. C. King 97.2–20–327–17–19.23; C. J. A. Morrell 157.5–20–642–25–25.68; D. F. Pennington 131.5–32–422–13–32.46.

WHITGIFT SCHOOL

Played 21: Won 6, Lost 9, Drawn 6. Abandoned 1

Master i/c: P. C. Fladgate

Cricket professional: A. Long

Batting—*S. Talbot 18-2-433-75*-27.06; M. P. J. Ellingham 21-2-398-73*-20.94; R. G. R. Heber 20-2-370-86*-20.55; N. J. Taylor 21-2-354-85-18.63; K. S. R. Ebenezer 19-3-202-37*-12.62; G. J. Thompson 13-1-133-32-11.08; D. A. McColville 19-0-166-33-8.73; S. M. Conn 14-1-105-35-8.07.

Bowling-N. J. Taylor 43-9-96-10-9.60; S. M. Conn 250.5-68-643-40-16.07; A. J. Bowers 142.4-29-492-27-18.22; P. J. Wallis 61-16-202-10-20.20; R. Slatford 119-17-414-20-20.70; S. Talbot 270.5-64-707-28-25.25.

WILLIAM HULME'S GRAMMAR SCHOOL

Played 25: Won 10, Lost 8, Drawn 7. Abandoned 1

Master i/c: I. J. Shaw

Batting-G. P. Benson 22-1-681-77-32.42; K. Rushton 19-3-479-63-29.93; D. M. J. Timm 5-0-140-50-28.00; P. Fearnley 22-3-493-66*-25.94; A. G. Cleary 21-2-433-60-22.78; S. M. Kennedy 16-4-263-59*-21.91; D. G. Shelston 18-5-251-50-19.30; M. L. Jackson 22-2-360-54-18.00; M. J. Cross 12-1-115-38-10.45.

Bowling-G. P. Benson 195-59-518-41-12.63; M. J. Cross 190-49-565-34-16.61; *N. R. Fairfax 192-42-626-36-17.38; S. McLoughlin 126-38-390-16-24.37.

WINCHESTER COLLEGE

Played 19: Won 6, Lost 5, Drawn 8

Master i/c: J. F. X. Miller

Cricket professional: V. Broderick

Batting-*I. L. M. Henry 21-4-668-91*-39.29; J. D. R. Bygrave 17-3-412-124*-29.42; C. H. M. Ridley 14-4-290-54*-29.00; P. S. Baldwin 14-0-272-48-19.42; C. E. R. M. Hall 14-0-256-71-18.28; A. N. Patterson-Moutray 11-0-189-53-17.18; J. D. Dean 15-3-155-29*-12.91; T. R. K. Thompson 20-1-189-42-9.94; S. G. Harford 15-2-128-41-9.84.

Bowling-J. D. Dean 293-88-669-46-14.54; B. J. Winzer 64.1-14-167-11-15.18; C. H. M. Ridley 141-30-322-19-16.94; I. L. M. Henry 216.1-53-576-32-18.00; S. J. H. Whitehead 272-63-770-31-24.83.

WOODBRIDGE SCHOOL

Played 13: Won 7, Lost 3, Drawn 3

Cricket professional: J. A. Pugh

Batting—S. Reeve 14-1-400-83-30.76; D. Kemsley 13-0-349-78-26.84; *S. Bacon 14-0-344-69-24.57; J. Parker 7-1-131-59-21.83; A. Donnison 12-5-140-53-20.00; S. Beresford 9-2-120-49-17.14; S. Brown 11-4-115-43*-16.42.

Bowling—S. Reeve 191-49-491-42-11.69; R. Jack 132-41-346-24-14.41; A. Donnison 117-24-374-19-19.68; M. Whitehead 71.4-14-251-12-20.91.

WOODHOUSE GROVE SCHOOL

Played 11: Won 1, Lost 2, Drawn 8. Abandoned 1

Master i/c: J. F. Clay

Cricket professional: P. J. Kippax

Batting-*B. S. Percy 9-3-385-165*-64.16; N. A. Ledgard 11-0-262-53-23.81; C. R. Kippax 7-2-105-30-21.00; M. I. Lawson 7-0-120-45-17.14; M. E. Fox 11-0-145-47-13.18; T. G. Wood 11-0-128-31-11.63.

WORKSOP COLLEGE

Played 14: Won 1, Lost 6, Drawn 7

Master i/c: N. S. Broadbent

Ratcliffe 83.5-24-236-16-14.75.

Cricket professional: R. Davies

Ratting-J. P. Wilkins 8-4-136-53-34.00; *J. F. Grieveson 14-3-311-101*-28.27; D. B. Storer 14-1-349-65-26.84; R. S. Darwin 14-0-271-76-19.35; S. A. Harnden 11-0-179-54-16.27; R. D. Aaron 11-1-157-40-15.70; M. Hallam 14-1-197-38-15.15; E. R. Hughes 14-0-133-56-9.50.

Bowling-J. F. Grieveson 151-30-485-25-19.40; B. D. Hackett 71.4-13-283-13-21.76; D. B. Storer 94-20-301-13-23.15; E. R. Hughes 180.2-43-629-24-26.20.

WREKIN COLLEGE

Played 18: Won 3, Lost 9, Drawn 6. Abandoned 2

Master i/c: E. C. Gower

Ratting—*A. W. Hartley 19-2-490-66-28.82; C. A. Fenton 11-1-255-63-25.50; D. R. Lees 12-0-177-41-14.75; G. H. H. Lynch 14-1-187-61-14.38; J. B. Rimmer 15-3-170-26*-14.16; N. D. Fielding 15-2-183-39-14.07; P. R. Richardson 16-1-203-49-13.53; P. Tindell 17-0-217-37-12.76.

Bowling—J. W. Whitfield 199.3-52-588-35-16.80; A. W. Hartley 192-40-525-30-17.50; O. C. Davies 166-29-519-23-22.56; P. J. Hawkins 174.2-44-470-13-36.15; P. R. Richardson 229-52-760-20-38.00.

WYCLIFFE COLLEGE

Played 15: Won 7, Lost 2, Drawn 6

Master i/c: M. Eagers

Cricket professional: K. Biddulph

Batting-P. Rowley 13-1-395-90*-32.91; R. Hair 10-4-130-44-21.66; *J. Bodington 14-3-229-63*-20.81; A. Dickenson 14-0-265-42-18.92; G. Campbell 14-2-214-49*-17.83; B. Sutton 12-0-195-62-16.25; P. Pitman 14-5-145-33*-16.11.

Bowling-M. Morris 74.3-17-181-14-12.92; P. Rowley 33.3-4-156-11-14.18; R. Hair 155-43-415-25-16.60; J. Bodington 124-32-343-20-17.15; A. Dickenson 114-21-437-23-19.00; R. Boulton 111.1-23-336-12-28.00.

